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THE STRAIGHT LINES

Solved Examples And Exercises

1. Show that the straight lines given by (2 + k)x + (1 + k)y =5+ Tk

for different values of k pass through a fixed point. Also, find that point.

° Watch Video Solution

2. Find the equation of the internal bisector of angle BAC of the triangle

ABC whose vertices A, B, C are(5, 2), (2, 3)and(6, 5) respectively.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3DIRfLV2DBla
https://dl.doubtnut.com/l/_QgLBuPC4Rgg5

3. In what ratio, the line joining ( — 1, 1)and(5, 7) is divided by the line

x+y=47

° Watch Video Solution

4. The mid points of the sides of a triangle are (2,1), (-5,7) and (-5,-5).The
equation of sides are

:(A)z—2=0

(B)6z + Ty + 65 = 0

(C)6x — Ty +T79 =0

(D) All of these

° Watch Video Solution

5. Find the equation of the altitudes of the triangle whose vertices are

A(7, — 1), B( — 2,8)andC(1, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_QgLBuPC4Rgg5
https://dl.doubtnut.com/l/_6QBRYSYkPUKm
https://dl.doubtnut.com/l/_RLhKvC07Dlj1
https://dl.doubtnut.com/l/_sM1TSh0Es6ef

6. One side of a square makes an angle a with x axis and one vertex of the
square is at origin. Prote that the equations of its diagonals are
z(sina + cos @) = y(cos a — sina) or
z(cosa — sina) + y(sina + cos a) = a, where a is the length of the

side of the square.

° Watch Video Solution

7. Show that the perpendicular drawn from the point (4, 1) on the line

segment joining (6, 5)and(2, — 1) divides it internally in the ratio 8: 5.

° Watch Video Solution

8. Prove that the perpendicular drawn from the point (4, 1) on the join of

(2, — 1)and(6, 5) divides it in the ratio 5: 8.

° Watch Video Solution



https://dl.doubtnut.com/l/_sM1TSh0Es6ef
https://dl.doubtnut.com/l/_Cdll3W3nuIzk
https://dl.doubtnut.com/l/_xZXG9BFv0Xus
https://dl.doubtnut.com/l/_lu3AKjjGpOJs

9. A line passing through the point A(2,0) makes 30° angle with the
positive direction of x — a&s . If this line is rotated through an angle of

15° in clockwise direction, find its equation in new position.

° Watch Video Solution

10.In what ratio is the line joining the points (2, 3)and(4, 1) divides the

segment joining the points(1, 2)and(4, 3) ?

° Watch Video Solution

1. Find the equations to the altitudes of the triangle whose angular

points are A(2, — 2), B(1,1) and C( — 1, 0)-

° Watch Video Solution



https://dl.doubtnut.com/l/_lu3AKjjGpOJs
https://dl.doubtnut.com/l/_PLbmwmATGhrd
https://dl.doubtnut.com/l/_16jNUlv5N0Wm
https://dl.doubtnut.com/l/_f7sFlv8RDXuV

12. Find the equations of the diagonals of the square formed by the lines

r=0,y=0,=1and y = 1.

° Watch Video Solution

13. Find the equation of a line which cuts off intercepts a and b

respectively from the z and y — azxes is % + % =1

° Watch Video Solution

14. Find the equation of the bisector of angle A ofthe triangle whoe

vertices are A(4, 3), B(0, 0)andC(2, 3).

° Watch Video Solution

15. Find the equations the straight lines which go through the origin and

trisect the portion of the straight line 3z 4+ y = 12 which is intercepted


https://dl.doubtnut.com/l/_gbby3AQbVkED
https://dl.doubtnut.com/l/_1UNw3XCs5uio
https://dl.doubtnut.com/l/_Hr06WtqqNqJV
https://dl.doubtnut.com/l/_vuqxE5wViUTz

beteen the axes of coordinates.

° Watch Video Solution

16. A line is such that its segment between
5x y + 4 = 0 and 3z + 4y 4

bisected at the point (1, 5). Obtain its equation.

the lines

= 0 is

° Watch Video Solution

17.Find the equations to the diagonals of the rectangle the equations of

whose sidesarez = a,z = a’, y = bandy = b’

° Watch Video Solution

18. A rectangle has two opposite vertices at the points (1, 2)and(5, 5). If

the other vertices lie on the line x = 3, find the equations of the sides of

the rectangle.



https://dl.doubtnut.com/l/_vuqxE5wViUTz
https://dl.doubtnut.com/l/_izVriUOF9o1T
https://dl.doubtnut.com/l/_v66GvdZFXUsF
https://dl.doubtnut.com/l/_3p8Fay7AejrJ

| ° Watch Video Solution

19. Find the coordinates of the vertices of a square inscribed in the
triangle with vertices A(0, 0), B(3, 0)andC(2, 1); given that two of its

vertices are on the side AB.

° Watch Video Solution

20. If the intercept of a line between the coordinate axes is divided by the

point ( — 5, 4) in the ratio 1: 2, then find the equation of the line.

° Watch Video Solution

21. A straight line moves so that the sum of the reciprocals of its
intercepts made on axes is constant. Show that the line passes through a

fixed point.

° Watch Video Solution



https://dl.doubtnut.com/l/_3p8Fay7AejrJ
https://dl.doubtnut.com/l/_Yv7I7GRHk0go
https://dl.doubtnut.com/l/_cT88hWDl10d9
https://dl.doubtnut.com/l/_mTdwKFL0Hpb5

22. Find the equations of lines parallel to 3z — 4y — 5 =0 at a unit

distance from it.

° Watch Video Solution

23. If the length of the perpendicular from the point (1, 1) to the line

by + ¢ — 0 be unity, show that ~ + — — L — _©
- = 0 be unity,showthat — + — — — = —
ax yTe Y c a b 2ab

° Watch Video Solution

24.1ft; and t, are roots of eth equation t2 4+ M +1=0, where \is an
arbitrary constant. Then prove that the line joining the points
(aty, 22at;) and (ats, 22aty) always passes through a fixed point. Also,

find the point.

° Watch Video Solution



https://dl.doubtnut.com/l/_unv0NDH74Inx
https://dl.doubtnut.com/l/_v08wco9A3glY
https://dl.doubtnut.com/l/_np7PrWOHjNC3

25. Show that the locus of the mid-point of the segment intercepted

between the axes of the variable line zcosa + ysina = p then

1 1 4 .
— + — = —;» Where pis a constant.
z Yy p

° Watch Video Solution

26. Find the equation of the line which passes through P(1, — 7) and

meets the axes at AandB respectively so that 4AP — 3BP = 0.

° Watch Video Solution

27.The area of the triangle formed by the coordinates axes and a line is 6
square unit length of d a line is 6 square units a tie'hypotenuse is 5 units.

Find the equation of the line.

° Watch Video Solution



https://dl.doubtnut.com/l/_lHGpY067Jfm8
https://dl.doubtnut.com/l/_LFJtv8D78lIs
https://dl.doubtnut.com/l/_avA6FHj40Bxe

28. Find the equations of the line which passes through the point (3, 4)

and the sum of its intercepts on the axes is14.

° Watch Video Solution

29. For what values of a and b the intercepts cut off n the coordinate axes
by the line ax + by + 8 = 0 are equal in length but opposite in signs to

those cut off by the line 2z — 3y + 6 = 0 on the axes.

° Watch Video Solution

30. Find the equation of the straight line which passes though (1, — 3)

and cuts off equal intercepts on the axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_2xKF5rRG6RhX
https://dl.doubtnut.com/l/_15I4mDv8K2gX
https://dl.doubtnut.com/l/_6z4DE9g3IN6o

31. If the line <£>+<£):1 moves in such a way that

a b

1 1 1
<—) + (—) = (—) , Where c is a constant, prove that the foot of
a? b2 c2

the perpendicular from the origin on the straight line describes the circle

22 +y2 — 2

o Watch Video Solution

32.If the sum of the distances of a moving point in a plane from the axes

is 1, then find the locus of the point.

o Watch Video Solution

33. Find the equation of the straight lines each of which passes through
the point (3,2) and cuts off intercepts aandb respectively on

xandy — azxes such thata — b = 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_CcX7g7bo4wv4
https://dl.doubtnut.com/l/_PmWojRAPJfEg
https://dl.doubtnut.com/l/_pwYoNygg5eyJ
https://dl.doubtnut.com/l/_jd2o6Hb8XvM2

34. The equation of straight line which passes through the point (-4,3)
such that the portion of the line between the axes is divided by the point

in ratio 5:3 is -

o Watch Video Solution

35. Prove that the length of perpendiculars from points
P(m2, 2m)Q(mn, m + n)andR(n2, 2n) to the line

z cos? @ + ysinfcosf + sin’@ = 0 are in G.P.

o Watch Video Solution

36. The equation of the base of an equilateral triangleis z +y —2 =0
and the opposite vertex his coordinates (2, -1). Find the length of side of

the triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_jd2o6Hb8XvM2
https://dl.doubtnut.com/l/_BDP8AM6YSANy
https://dl.doubtnut.com/l/_IhQdguoGp3Hp

37. Find the equations of lines passing through the point (1,0) and a

3
distance 5 from the origin.

o Watch Video Solution

38. Find the coordinates of a point on = + y + 3 = 0, whose distance

fromz + 2y + 2 = 0is /5.

o Watch Video Solution

39. A point moves such teat its distance from the point (4, 0) is half that

of its distance from the line x = 16, find its locus.

o Watch Video Solution

40. Find the locus of a point which moves in such away that the square of

its distance from the point (3, — 2) is numerically equal to its distance


https://dl.doubtnut.com/l/_pm7LvMnU2zWu
https://dl.doubtnut.com/l/_lfLywkMfOrAl
https://dl.doubtnut.com/l/_PowNQa1tmzz7
https://dl.doubtnut.com/l/_9rJ9nN0DJCcy

from the line b — 12y = 13.

° Watch Video Solution

41. Find the equation of the straight line on which the length of the
perpendicular from the origin is 4 units and the line makes an angle of

120° with positive direction of z — aés-

° Watch Video Solution

42. Find the equation of the straight line upon which the length of the

perpendicular from the origin is band the slope of this perpendicular is

3

4

° Watch Video Solution

43. A line forms a triangle of area 54,/3square units with the coordinate

axes. Find the equation of the line if the perpendicular drawn from the


https://dl.doubtnut.com/l/_9rJ9nN0DJCcy
https://dl.doubtnut.com/l/_aUvrJP9vhGCD
https://dl.doubtnut.com/l/_VKtmTfDjPZeQ
https://dl.doubtnut.com/l/_cE5EGFW8YQIZ

origin to the line makes an angle of 60° with the X-axis.

° Watch Video Solution

1
44. A straight canal is 45miles from a place and the shortest route from
this place to the canal is exactly north-east. A village is 3miles north and
four miles east from the place. Does it lie by the nearest edge of the

canal?

° Watch Video Solution

45. Find the equation of the line on which the length of the perpendicular
segment from the origin to the line is 4 and the inclination of the

perpendicular segment with the positive direction of x-axis is 30°.

° Watch Video Solution



https://dl.doubtnut.com/l/_cE5EGFW8YQIZ
https://dl.doubtnut.com/l/_spJ6FW5TymPt
https://dl.doubtnut.com/l/_UpcRF91T2hGN

46. Find the equation of the straight line on which the length of the

perpendicular from the origin is 2 and the perpendicular makes an angle

1
a with x-axis such that sina = g

° Watch Video Solution

47. Find the equation of a straight line on which the perpendicular from
the origin makes an angle of 30° with x-axis and which forms a triangle of

area 50,/3 with the axes.

° Watch Video Solution

48. The slope of a straight line through A(3,2)i s 3/4 Find the

coordinates of the points on the line that are 5units away fromA.

° Watch Video Solution



https://dl.doubtnut.com/l/_XtRBKU4KKOnd
https://dl.doubtnut.com/l/_pb9O6raQDG2A
https://dl.doubtnut.com/l/_ac4ViK1hHbsw

49. Find the equation of the line through the point A(2, 3) and making
an angle an angle of 45° with the & — aés . Also, determine the length of

intercept on it between Aand thelinex +y+ 1 = 0.

° Watch Video Solution

50. If the straight line through the point (3,4) makes an angle % with x-

axis and meets the line 12z + 5y + 10 = 0 at Q, Then the length of PQ is

° Watch Video Solution

51. The angle between the diagonals of a quadrilateral formed by the

. T Y T Y .
| -t ==1,—-——==1
mesa b " a , IS

° Watch Video Solution



https://dl.doubtnut.com/l/_o0e3DN1BtLvo
https://dl.doubtnut.com/l/_9Wd11DVRG2zh
https://dl.doubtnut.com/l/_Dh9Xp1Y1256G

52. Find the equation of two straight lines which are parallel to

z + Ty + 2 = 0 and at unit distance from the point (1, — 1).

° Watch Video Solution

53. Show that the lines
dr+y—9=0,z —2y+ 3 = 0,5 — y — 6 = 0 make equal intercepts

on any line of slope 2.

° Watch Video Solution

54, Find the value of m for which the lines
mz+ (2m+3)y+m+6=0 and

mz + (2m + 1)z + (m — 6)y + 9 = O intersect at a; point on y-axis .

° Watch Video Solution



https://dl.doubtnut.com/l/_5J5xmWfWLugB
https://dl.doubtnut.com/l/_4BiHvdRFxFtO
https://dl.doubtnut.com/l/_Iv1uOgqeufNf

55. The sides ABandAC of a triangle ABC are respectively
2 + 3y = 29andz + 2y = 16 respectively. If the mid-point of

BC('is(5, 6) then find the equation of BC.

° Watch Video Solution

56. A line through A(—5, —4) meets the lines

xr+3y+2=0,2x+y+4=0andr —y—5=0 at the points

2 2 2
B, CandD rspectively, if (%) + (,i_(é’) = (%) find the

equation of the line.

° Watch Video Solution

57. Explain BPT Theorem

° Watch Video Solution



https://dl.doubtnut.com/l/_5xdTqf1pHHtt
https://dl.doubtnut.com/l/_G3q54hlEIHZQ
https://dl.doubtnut.com/l/_aHg00CzaFTye

58. Transform the equation of the line /3z +y — 8 = 0 to (i) slope
intercept form and find its slope and y-intercept (ii) intercept form and
find intercepts in the coordinates axes (iii) normal form and find the
inclination of the perpendicular segment from the origin on the line with

the axis and its length.

o Watch Video Solution

59. Find the distance of the point (2, 3) from the lilne 2z — 3y +9 =0

measured along alinez —y+ 1= 0.

o Watch Video Solution

60. The line joining two points A(2,0) and B(3,1) is rotated about A in
anticlockwise direction through an angle of 15°. find the equation of line
in the new position. If b goes to c in the new position what will be the

coordinates of C.

| o WMl L\ dan C Al ikl n


https://dl.doubtnut.com/l/_VYNJDFM6woYP
https://dl.doubtnut.com/l/_d2aJjeaMdUhe
https://dl.doubtnut.com/l/_4oY51eM7XDcD
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61. Find the direction in which a straight line must be drawn through the
point (1, 2) so that its point of intersection with the line

T + oy 4 may be at a distance of 3 units from this point.

° Watch Video Solution

62. Show that the equations of the straight lines passing through the
point (3, —2) and inclined at 60° to the line \/3z+y=1ar e

y+2=0andy— 3z + (2+33) =0.

° Watch Video Solution

63. A vertex of an equilateral triangle is (2, 3) and the opposite side is

x + y = 2. Find the equations of other sides.

° Watch Video Solution



https://dl.doubtnut.com/l/_4oY51eM7XDcD
https://dl.doubtnut.com/l/_sKWJT1ZvDvTW
https://dl.doubtnut.com/l/_0M3BSnG5Lwfx
https://dl.doubtnut.com/l/_J7DoPNfMj3ZA
https://dl.doubtnut.com/l/_wFNlTu41c5Ht

64.Find the value of A\, if theline3xz — 4y — 13 =0,8x — 11y — 33 =0

and2x — 3y + A = 0are concurrent.

° Watch Video Solution

65. If the lines ax +y+1=0,z+by+1=0and z +y+c=0 are

1
t 1 that =1.
concurrent (a # b # ¢ # 1) , prove tha 1—a+1—b+1—c

° Watch Video Solution

66. If the straight line %—k % = 1 passes through the line point of
intersection of the lines z + y = 3and 2x — 3y = 1 and is parallel to

x—y—6=0,findaandb

° Watch Video Solution



https://dl.doubtnut.com/l/_wFNlTu41c5Ht
https://dl.doubtnut.com/l/_Ij9r24xLiWuP
https://dl.doubtnut.com/l/_OqhbJc7dfjYp

67. Find the orthocentre of the triangle the equations of whose sides are

r+y=12x+3y==6and4de —y+4=0.

° Watch Video Solution

68. Two vertices of a triangle are (3, —1) and ( —2,3) and its

orthocenter is at the origin,. Find the coordinates of its third vertex.

° Watch Video Solution

69. Two consecutive  sides of a parallelogram are
4z + 5y = Oadn7z + 2y = 0. If the equation of one diagonal is
11z + 7y = 9, Equation of other diagonal : (A) 11z + 7y =0 (B)

32 —5y+5=0(C)7z+1ly=0(D)3z +5y+5=0

° Watch Video Solution



https://dl.doubtnut.com/l/_J4efKueU0uyh
https://dl.doubtnut.com/l/_JCKX187Qno9G
https://dl.doubtnut.com/l/_q3qAil4ox8NJ

70. Find the equation of the straight line passing through the point of
intersection of the lines bx — 6y — 1 = 0and3x + 2y +5 =0 and

perpendicular to the line 3z — 5y + 11 = 0.

° Watch Video Solution

71. Show that the line z—-y—6=0,4c —-3y—20=0 and
6 + 5y + 8 = 0 are concurrent. Also, find their common point of

intersection.

° Watch Video Solution

72. Three sides AB, ACandCA of triangle ABC are
bx —3y+2=0,z —3y — 2= 0andxr +y — 6 =0 respectively. Find

the equation of the altitude through the vertex A.

° Watch Video Solution



https://dl.doubtnut.com/l/_wHW1dGpdV1gD
https://dl.doubtnut.com/l/_e4Z1KTCLPQec
https://dl.doubtnut.com/l/_aBrOi3x0raL4
https://dl.doubtnut.com/l/_hKBPSHVlmVpS

73. Find the coordinates of the in centre and centroid of the triangle
whose sides have the equations

3r —4y =0,12y + 5x = 0 and y — 15 = 0.

° Watch Video Solution

74. Show that the straight lines given by z(a + 2b) + y(a + 3b) = a for

different values of @ and b pass through a fixed point.

° Watch Video Solution

75.1f a, b, c are variables such that 3a + 2b + 4c = 0, then show that the
family of lines givenby az + by + ¢ = 0 pass through a fixed point. Also,

find that point.

° Watch Video Solution



https://dl.doubtnut.com/l/_hKBPSHVlmVpS
https://dl.doubtnut.com/l/_QIeNfDxZi9eO
https://dl.doubtnut.com/l/_NTzcqL6k5SlR

76. If the algebraic sum of the perpendiculars from the points
(2,0),(0,2),(1,1) to a variable line be zero, then prove that line passes

through a fixed-point whose coordinates are (1, 1).

° Watch Video Solution

77.Aray of light is sent along the line x — 2y — 3 = 0 upon reaching the
line 3z — 2y — 5 = 0, the ray is reflected from it. Find the equation of

the line containing the reflected ray.

° Watch Video Solution

78.lines Ly:ax + by + ¢ = 0 and Ly:lx + my + n = 0 intersect at the
point P and make a angle 8 between each other. find the equation of a
line Ldifferent from L, which passes through P and makes the same

angle 6 with L,

° Watch Video Solution



https://dl.doubtnut.com/l/_xs5ZxTmzFLYf
https://dl.doubtnut.com/l/_6mm2FApwNNcA
https://dl.doubtnut.com/l/_YYwjN2GJLPbe

79. Find the equation of the straight line passing through the point of
intersection of 2z 4+3y+1=0an d 3z —5y—5=0 and equally

inclined to the axes.

° Watch Video Solution

80. Find the equation of the straight line which cuts off intercept on X-

axis which is twice that on Y-axis and is at a unit distance from the origin.

° Watch Video Solution

81. Find the equation of the straight line passing through the point of
intersection of 2z + y — 1 = Oadnz + 3y — 2 = 0 and making with the

coordinate axes a triangle of area 3/8 sq. units.

° Watch Video Solution



https://dl.doubtnut.com/l/_7MnwuQp6KAFk
https://dl.doubtnut.com/l/_yNHKf46vhBMM
https://dl.doubtnut.com/l/_jpa3hIcLfdbw

82. Find the equations of the lines through the point of intersection of
the lines * —y+ 1 =0 and2z — 3y + 5 = Owhose distance from the

point(3, 2) is %

° Watch Video Solution

83. Write the area of the figure formed by the lines a|z| + bly| + ¢ = 0.

° Watch Video Solution

84. If 0 is the acute angle between the lines with slopes m1 and m2 then

° Watch Video Solution

85. A straight line L is perpendicular to the line 5z — y = 1. The area of

the triangle formed by the line L and the coordinate axes is


https://dl.doubtnut.com/l/_73b7cxKzflXY
https://dl.doubtnut.com/l/_sHWtfAxPmsMw
https://dl.doubtnut.com/l/_WFRY8PbTaSI9
https://dl.doubtnut.com/l/_KlWEV2LjFDK0

5squareunits- Find the equation of the line L.

° Watch Video Solution

86. Find the image of the point ( — 8, 12) with respect to line mirror

Az + Ty + 13 = 0.

° Watch Video Solution

87. Show that the equation of a line passing through (a cos 36, a sin® 0)
and perpendicualar to the line

x secl + ycosecd = aisrcos — ysinf — a cos 26

° Watch Video Solution

88. Find the equation of a straight line parallel to 2z 4+ 3 4+ 11 = 0 and

which is such that the sum of its intercepts on the axes is 15.

° Watch Video Solution



https://dl.doubtnut.com/l/_KlWEV2LjFDK0
https://dl.doubtnut.com/l/_ms5wE1QyfHDT
https://dl.doubtnut.com/l/_VMBcx8h7SEwj
https://dl.doubtnut.com/l/_8OTu55YRGJpa

89. Find the coordinates of the foot of the perpendicular drawn from the

point (1, — 2) ontheliney = 2z + 1.

° Watch Video Solution

90. If the lines pix + qy = 1, psx + @y = landpsx + sy = 1, be

concurrent, show that the point (py, ¢1), (p2, ¢2)and(ps, g3) are collinear.

° Watch Video Solution

91. Prove that the medians of a triangle are concurrent and find the
position vector of the point of concurrency (that is, the centroid of the

triangle)

° Watch Video Solution



https://dl.doubtnut.com/l/_8OTu55YRGJpa
https://dl.doubtnut.com/l/_ZGCMg0myN3XP
https://dl.doubtnut.com/l/_HN9h1zlYWmwb
https://dl.doubtnut.com/l/_Cj7QlfXPznaS

92. Show that the altitudes of a triangle are concurrent

° Watch Video Solution

93. Two sides of an isosceles triangle are given by the equations
7t —y+3=0and x +y— 3 =0 and its third side passes through

the point (1, — 1). Determine the equation of the third side.

° Watch Video Solution

94. Let P(zq,y;) be a point and let ax + by + ¢ = 0 be a line. IfL(h, k)
is the foot of perpendicular drawn from P on this line and Q(«, B) is the

image of P in the given line, then prove that

(i)h—wl _ k—yl _ azl—i—byl—l—c.
a b a? + b2
(ii)a_x _ B—y :2a$1+by1+c.
a b a? + b2

° Watch Video Solution



https://dl.doubtnut.com/l/_NLMXZmiWm8MK
https://dl.doubtnut.com/l/_uejp3paGHgBm
https://dl.doubtnut.com/l/_CJ75xrlUOk6h
https://dl.doubtnut.com/l/_9HxepFODPUbp

95. Find the equations the sides of an isosceles right angled triangle the
equation of whose hypotenuse is 3x + 4y = 4 and the opposite vertex is

the point (2, 2).

° Watch Video Solution

96. A line 4 + y = 1 passes through the point A(2,7) and meets line BC
at B whose equation is 3z — 4y + 1 = 0, the equation of line AC such
that AB = AC is (a) 52x +89y +519=0(b) 52x +89y-519=0 c) 82x

+52y+519=0 (d) 89x +52y -519=0

° Watch Video Solution

97.One side of a rectangle lies along the line 4z + 7y + 5 = 0. Two of its
vertices are ( — 3, 1)and(1,1)- Find the equations of the other three

sides.

° Watch Video Solution



https://dl.doubtnut.com/l/_9HxepFODPUbp
https://dl.doubtnut.com/l/_hoFDyzHsqKJ0
https://dl.doubtnut.com/l/_O2CVcZqsHKuk
https://dl.doubtnut.com/l/_p2HoNg4g4nBM

98. If two opposite vertices of square are (1,2) and (5.8), find the

coordinates of its other two vertices and the equations of its sides.

° Watch Video Solution

99. Find the equation of the straight line which passes through the
intersection of the lines x — y — 1 = Oand2z — 3y + 1 = 0 and parallel

(i) x-axis(i i)y-axis(i i i)3x+4y=14.

° Watch Video Solution

100. Find the equation of the straight line which passes through the
point (2, —3) and the point intersection of the lines

x+y+4=0and3z —y— 8 =0.

° Watch Video Solution



https://dl.doubtnut.com/l/_p2HoNg4g4nBM
https://dl.doubtnut.com/l/_7wWQAMF9EA8c
https://dl.doubtnut.com/l/_kxfYHWKCHkRn

101.1f A(2, 0), B(0, 2)andC(0, 7) are three vertices, taken in order, of an
isosceles trapezium ABCD in which AB | | DC. find the coordinates of

D.

° Watch Video Solution

102. Prove that the line joining the mid-points of the two sides of a

triangle is parallel to the third side.

° Watch Video Solution

103. A ray of light passing through the point (1, 2) reflects on the x-axis
at point A and the reflected ray passes through the point (5, 3) . Find the

co-ordinates of A.

° Watch Video Solution



https://dl.doubtnut.com/l/_stBAKMNa6gLJ
https://dl.doubtnut.com/l/_FYVns0JTwqU6
https://dl.doubtnut.com/l/_7bAtbsU0zRs3

104. Prove that A(4, 3), B(6, 4)andC(5, 6)andD(3, 5) are the angular

points of a square.

° Watch Video Solution

105. What is the value of y so that the line through (3, y)and(2,7) is

parallel to the line through ( — 1, 4)and(0, 6) ?

° Watch Video Solution

106. Let A(6, 4)andB(2, 12) be two given points. Find the slope of a line

perpendicular to AB.

° Watch Video Solution

107. Find the angle between the lines joining the point (0, 0), (2, 3) and

the points (2, — 2), (3, 5)-

| e |


https://dl.doubtnut.com/l/_yDq3mtgaqLLi
https://dl.doubtnut.com/l/_jPkEAe8LE75p
https://dl.doubtnut.com/l/_LK73sJtHS2bf
https://dl.doubtnut.com/l/_Tkwk3atjtyGr

l &J Watch Video Solution J

108. Determine z so that the line passing through (3, 4)and(z, 5) makes

an angle of 135° angle with positive direction of x-axis

° Watch Video Solution

109. If A(—2,1), B(2,3)andC( — 2, —4) are three points, find the

angle between ABandBC.

° Watch Video Solution

10. Find the equation of a straight line which passes through the point
of intersection of the straight lines x +y—5=0and z —y+3=0
and perpendicular to a straight line intersecting x-axis at the point (-2,0)

and the y-axis at the point (0,-3).

° Watch Video Solution



https://dl.doubtnut.com/l/_Tkwk3atjtyGr
https://dl.doubtnut.com/l/_0OksVKGbgUbA
https://dl.doubtnut.com/l/_O60UIw714Xv1
https://dl.doubtnut.com/l/_EoiMWC7F0ilA

1M1. Classify the following pairs of lines as coincident, parallel or
intersecting:

x+2y—3=0and—3z —6y+9=0
x+2y+1=0and2z —4y+3 =0

3r —2y+5=0and2z +y—9 =0

° Watch Video Solution

112. Find the slope of the lines which make an angle of 45° with the line

3z —y+5=0.

° Watch Video Solution

113. . The lines
(a+bzx+ (a—by—2ab=0,(a—bzx+ (a+b)y—2ab=0 and = + g

form an isosceles triangle whose vertical angle is

° Watch Video Solution



https://dl.doubtnut.com/l/_jhvNZTX50zHh
https://dl.doubtnut.com/l/_CJiYrOo6W8cO
https://dl.doubtnut.com/l/_q3a564i7psCW

114.If the point as (4, 7) and (cos 0, sin#) , where 0 < 6 < 7, lie on the
same side of the line x +y — 1 = 0, then prove that @ lies in the first

quadrant.

° Watch Video Solution

115. Find the centroid, incentre circum-centre and orthocentre of the
triangle whosesie the equations

3r —4y=0,12y+ 5z =0 and y—15=0

° Watch Video Solution

116. The vertices of a triangle are [atits, a(t; + t3)], [atats, a(ts + t3)],
latsty, a(t3 + t;)] Then the orthocenter of the triangle is (a)
(—a,a(ty +ty + t3) — atytats) (b) ( — a, a(ts + ty + t3) + atytats) (c)

(a, a(ty +ty + t3) + atitats) (d) (a, a(ty + to + t3) — atitats)

° Watch Video Solution



https://dl.doubtnut.com/l/_XNePcPocytSt
https://dl.doubtnut.com/l/_0vp25CMnXesc
https://dl.doubtnut.com/l/_mDAvNNduPkja

117.Find the tangent of the angle between the lines whose intercepts on

the axes are respectivelya, — b and b, — a

° Watch Video Solution

118.  Find the wvalue of &k if the  straight line
20 +3y+ 4+ k(6z —y+12) =0 is perpendicular to the line

Tz + by — 4 = 0.

° Watch Video Solution

119. Find the values of 8 so that the point (0, ) lies on or inside the
triangle havind the sides

3r+y+2=0,2z —3y+ 5 = 0andz + 4y — 14 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_Y9BHgTUIGqdr
https://dl.doubtnut.com/l/_Eb5Jqb7z9Vcv
https://dl.doubtnut.com/l/_b0aSrVeLK7ft

120. Find the values of a so that the point P(a2, a) lies inside or on the
triangle formed by the lines

x—5y+6=0,z—3+2=0andx —2y—3=0.

° Watch Video Solution

121. Find the ratio in which the line 3= + 4y + 2 = 0 divides the distance

between the lines 3z 4 4y + 5 = Oand3x + 4y — 5 = 0.

° Watch Video Solution

122. Prove that the area of the parallelogram formed by the lines

xcosa + ysina =p,rcosa + ys € a = q, xcos B + ysinf = randz cos,

° Watch Video Solution



https://dl.doubtnut.com/l/_Chup6AvKQt4s
https://dl.doubtnut.com/l/_BlCXEQP8I7yF
https://dl.doubtnut.com/l/_Y0bV2Ue8U3iD

123. Find the equation of the perpendicular bisector of the line segment

joining the points A(2, 3)andB(6, — 5).

° Watch Video Solution

124. The vertices of a triangle are A(10,4), B( — 4, 0)andC( — 2, 8).

Find the equation of its altitudes. Also, find its orthocentre.

° Watch Video Solution

125. Two sides of a square lie on the lines x + y = landx +y+ 2 = 0.

What is its area?

° Watch Video Solution

126. Prove that the line 5z — 2y — 1 = 0 is mid-parallel ot the lines

br — 2y — 9 = Oandbx — 2y + 7 = 0.

| e |


https://dl.doubtnut.com/l/_XhS5AoLxL2UE
https://dl.doubtnut.com/l/_IWc3nYPmt7sk
https://dl.doubtnut.com/l/_EYmU4DQZbSzn
https://dl.doubtnut.com/l/_tKg8D7GgCyic

l 0 Watch Video Solution J

127. Find the equation of a line that has y - intercept 4 and is

perpendicular to the line joining (2, — 3)and(4, 2)-

° Watch Video Solution

128. P,, P, are points on either of the two line y — 1/2|z| =2 at a
distance of 5 units from their point intersection. Find the coordinatesof
the foot of perpendiculars drawn from P;, P, on the bisector of the

angle between the given lines.

° Watch Video Solution

129. Find the equation of a line has y-intercept is —4 and is parallel to the

line joining (2, — 5)and(1, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_tKg8D7GgCyic
https://dl.doubtnut.com/l/_Y9L135t8oc4S
https://dl.doubtnut.com/l/_GBv0dgOua8AF
https://dl.doubtnut.com/l/_DfrdFrNKOFGp

130. Find the equation of a line passing through (1, 2) and making angle

of 30° with y-axis .

° Watch Video Solution

131. The vertices of a triangle are
A(zq, z1tanby), B(xy, xotan by)andC(x3, x3tanf3). if the circumcentre

of AABC coincides with the origin and H(z, y) is the orthocentre, show

Y sin 01 + sin @y + sin 65
T cos 01 + cos 0y + cos 05

° Watch Video Solution

132. Find the equation of a line which is parallel to y — axis and passes

through ( — 4, 3)-

° Watch Video Solution



https://dl.doubtnut.com/l/_rVs7GUgQDrIv
https://dl.doubtnut.com/l/_b0YQnfV5NXBp
https://dl.doubtnut.com/l/_2OYyeQjjSZAo

133. Find the equation of a line which is equidistant from the lines

= —4andz =8

° Watch Video Solution

134. Find the equation of a straight line which makes an angle of

3
tan ' 4/2 with the x-axis and cuts off an intercept of = 7 with the y-
2

axis

o Watch Video Solution

135. The equation of the base of an equilateral triangle is ¢ + y = 2 and

its vertex is (2, — 1)- Find the length and equations of its sides.

o Watch Video Solution



https://dl.doubtnut.com/l/_XOCXjt9RCmBX
https://dl.doubtnut.com/l/_zvKKfjqkmiMK
https://dl.doubtnut.com/l/_12T8nn4QoFRj

136. find the slope of a line whose inclination to the positive directioin of

x-axis in anticlockwise sense is i. 60° ii.0° iii. 150° iv. 120°

° Watch Video Solution

137. What can be said regarding a line if its slope is i. positive ii. zero iii

negative?

° Watch Video Solution

138. Find the slope of a line which passes through points (3,2) and (-1,5).

° Watch Video Solution

139. Determine x so that 2 is the slope of the line through (2,5) and

(xa 3)'

° Watch Video Solution



https://dl.doubtnut.com/l/_EGdoh6nAhza0
https://dl.doubtnut.com/l/_AVzhFqVPiWIF
https://dl.doubtnut.com/l/_fBqwTDFrxxdC
https://dl.doubtnut.com/l/_LxhfuHyGa82h

140.  Without using Pythagoras theorem, show that
A(4,4), B(3,5)and C( — 1, — 1) are the vertices of a right angled

triangle.

° Watch Video Solution

141. A quadrilateral has the vertices at the points
(—4,2), (2,6), (8,5)and (9, — 7) . Show that the mid points of the

sides of this quadrilateral are the vertices of a parallelogram.

° Watch Video Solution

142. If the points P(h, k), Q(z1, y1)and R(xzs, ys) lie on a line. Show

that: (b — z1)(y2 — y1) = (k — y1) (@2 — z1):

° Watch Video Solution



https://dl.doubtnut.com/l/_LxhfuHyGa82h
https://dl.doubtnut.com/l/_xzVtEvkmB332
https://dl.doubtnut.com/l/_Z9iBW1AS8aJd
https://dl.doubtnut.com/l/_pVyuboM2ze51
https://dl.doubtnut.com/l/_6xTkg6IgyYsL

143. In figure, time and distance graph of a linear motion is given. Two
positions of time and distance recorded and  when
T =0, D=2andwhenT =3, D = 8. Using the concept of slope,

find law of motion i.e. how distance depends upon time.

° Watch Video Solution

144. If points (a, 0), (0, b)and (z, y) are collinear, using the concept of

x )
I that — + — = 1.
slope prove tha a + b

° Watch Video Solution

145. By using the concept of slope, prove that the diagonals of a rhombus

are at right angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_6xTkg6IgyYsL
https://dl.doubtnut.com/l/_kzSvg9Sevh4X
https://dl.doubtnut.com/l/_mi59G4Q1ulCt

146. Using the concept of slope, prove that medians of an equilateral

triangle are perpendicular to the corresponding sides.

° Watch Video Solution

147. Prove that that a triangle which has one of the angle as 30° cannot

have all vertices with integral coordinates.

° Watch Video Solution

148. Find the slopes of the lines which make the following angles with the

™ 27

positive direction of x-axis: 1 il. 3

° Watch Video Solution

149. Find the slopes of the lines which make the following angles with the

3 T

positive direction of x-axis: T ii. 3

| e |


https://dl.doubtnut.com/l/_WeE8zLIrzYL2
https://dl.doubtnut.com/l/_sinN4PVpcfkt
https://dl.doubtnut.com/l/_slIOit1zPRdD
https://dl.doubtnut.com/l/_p1pWFejY9IeE

| & Watch Video Solution I

150. Find the slope of a line passing through the following point:

(—3,2)and (1,4)

o Watch Video Solution

151. Find the slope of a line passing through the following point:

(at%, 2at1)and (at%, 2at2)

o Watch Video Solution

152. Find the slope of a line passing through the following point:

(3, —5) and (1, 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_p1pWFejY9IeE
https://dl.doubtnut.com/l/_F55m04yVtE2A
https://dl.doubtnut.com/l/_Kvi6fJ9KYmh2
https://dl.doubtnut.com/l/_btqlM3H62Oo8

153. State whether the tow lines in each of the following are parallel,

perpendicular or nether: through (9,5) and (-1,1); through (3,-5) and (8,-3)

° Watch Video Solution

154. State whether the two lines in each of the following are parallel,

perpendicular or neither: through (5,6) and (2,3); through (9,-2) and (6,-5)

° Watch Video Solution

155. State whether the two lines in each of the following are parallel,

perpendicular or neither: through (6,3) and (1,1); through (-2,5) and (2,-5)

° Watch Video Solution

156. State whether the two lines in each of the following are parallel,

perpendicular or neither: through (3,15) and (16,6); through (-5,3) and (8,2)

[ e |


https://dl.doubtnut.com/l/_vSiNRHvXhSBi
https://dl.doubtnut.com/l/_R0icdGuUdyPC
https://dl.doubtnut.com/l/_PlfJspwxF0cn
https://dl.doubtnut.com/l/_9ROwszt5pH3e

l &J Watch Video Solution J

157. Find the slope of a line i. which bisects the first quadrant angle ii.
which makes an angle of 30° with the positive direction of y-axis

measured anticlockwise.

° Watch Video Solution

158. Using the method of slope, show that the following points are

collinear: A(4, 8), B(5,12), C(9, 28)

° Watch Video Solution

159. Using the method of slope, show that the following points are

collinear: A(16, — 18), B(3, — 6), C( — 10, 6)

° Watch Video Solution



https://dl.doubtnut.com/l/_9ROwszt5pH3e
https://dl.doubtnut.com/l/_sK9OZ6wMemhg
https://dl.doubtnut.com/l/_RTjOOEXIX5h0
https://dl.doubtnut.com/l/_VniKcdgCq0lX
https://dl.doubtnut.com/l/_wW3UOGSy7Kvp

160. What is the value of y so that the line through (3, y)and (2, 7) is

parallel to the line through ( — 1, 4)and (0, 6) ?

° Watch Video Solution

161. What can be said regarding a line if its slope is i. positive ii. zero iii

negative?

° Watch Video Solution

162. Show that the line joining (2,-3) and (-5,1) is parallel to the line joining

(7,-1) and (0,3).

° Watch Video Solution

163. Show that the joining (2,-5) and (-2, 5) is perpendicular to the line

joining (6,3) and (1,1).

° Watch Video Solution



https://dl.doubtnut.com/l/_wW3UOGSy7Kvp
https://dl.doubtnut.com/l/_8cnXCWToq0wa
https://dl.doubtnut.com/l/_rGLUE2E0stFd
https://dl.doubtnut.com/l/_euR270yXXYO6

164. Without using Pythagoras theorem, show that the points

A(0,4), B(1,2)and C(3, 3) are the vertices of a right angled triangle.

° Watch Video Solution

165. Prove that the points (-4, -1), (-2, -4), (4,0) and (2,3) are the vertices of

a rectangle.

° Watch Video Solution

166. If three points A(h, 0), P(a, b)and B(0, k) lie on a line, show that:

a
—+ =1
h+k

° Watch Video Solution



https://dl.doubtnut.com/l/_euR270yXXYO6
https://dl.doubtnut.com/l/_pMMPL5R2J1GN
https://dl.doubtnut.com/l/_iml7zI6pHQwB
https://dl.doubtnut.com/l/_9t9covHHF9nh

167. The slope of a line is double of the slope of another line. If tangent of

1
the angle between them is 3 find the slopes of the lines.

° Watch Video Solution

168. Consider the following population and year graph: find the slope of

the line AB and using it find what will be the population in the year 2010.

° Watch Video Solution

169. Without using distance formula, show that points (2, 1),(4, 0)

,(3, 3)and (3, 2) are the vertices of a parallelogram.

° Watch Video Solution

170. Find the angle between the X-axis and the line joining the points

(3, —1)and (4, — 2).

| e |


https://dl.doubtnut.com/l/_hAFdbYxulOXs
https://dl.doubtnut.com/l/_2ylgeb1oYlIV
https://dl.doubtnut.com/l/_djwgiDGhO1uR
https://dl.doubtnut.com/l/_AZzvM9hhKRO5

| &J Watch Video Solution I

171. Line through the points (-2,6) and (4,80 is perpendicular to the line

through the points (8,12) and (z, 24). Find the value of z.

° Watch Video Solution

172. Find the value of x for which the points (z — 1), (2, 1)and (4, 5) are

collinear.

° Watch Video Solution

173. Find the angle between X-axis an the line joining the points (-3,-1) and

(4,2).

° Watch Video Solution



https://dl.doubtnut.com/l/_AZzvM9hhKRO5
https://dl.doubtnut.com/l/_KfeTGREAsHm8
https://dl.doubtnut.com/l/_w98L6O42vAHU
https://dl.doubtnut.com/l/_QnZhV3PdW2XC

174. By using the concept of slope, show that the points (-2,-1), (4,0), (3,3)

and (-3,2) are the vertices of a parallelogram.

° Watch Video Solution

175. A quadrilateral has vertices (4, 1), (1,7), ( —6,0) AND ( — 1, —9).
Show that mid-points of the sides of this quadrilateral form a

parallelogram.

° Watch Video Solution

176. Write down the equation of the following lines: x-axis

° Watch Video Solution

177. Write down the equation of the following lines: y — aés

° Watch Video Solution



https://dl.doubtnut.com/l/_cy5tI2VKqcmW
https://dl.doubtnut.com/l/_G8KVG1s8Ipvr
https://dl.doubtnut.com/l/_IK5RXR7GHuQi
https://dl.doubtnut.com/l/_GdiHTLigG72m

178. Write down the equation of the following lines: A line parallel to x-

axis at a distance of 3 units below x-axis.

° Watch Video Solution

179. Write down the equation of the following lines: a line parallel to y-

axis at a distance of 5 units on the left hand side of it.

° Watch Video Solution

180. Find the equation of a line which is parallel to x-axis and passes

through (3,-5).

° Watch Video Solution



https://dl.doubtnut.com/l/_GdiHTLigG72m
https://dl.doubtnut.com/l/_VUL9KbgmrxHF
https://dl.doubtnut.com/l/_ePvlf8Lg6eEz
https://dl.doubtnut.com/l/_vrdaNtogyb6E

181. Find the equation of the line parallel to x-axis and passing through

(3,-5).

° Watch Video Solution

182. Find the equation of the line perpendicular to x-axis and having

intercept -2 on x-axis.

° Watch Video Solution

183. Find the equation of the line parallel to x-axis of and having intercept

-2 on y-axis.

° Watch Video Solution

184. Find the equation of the line parallel to x-axis of and having intercept

-2 on y-axis.

| e |


https://dl.doubtnut.com/l/_HB7EWl9Zvj1F
https://dl.doubtnut.com/l/_KxgwUfFWyrB3
https://dl.doubtnut.com/l/_MH3sk2z6hvoZ
https://dl.doubtnut.com/l/_k9RWISy834hZ

I &J Watch Video Solution

185. Draw the lines = — 3, x =2, y= — 2, y =3 and write the

coordinates of the vertices of the square so formed.

° Watch Video Solution

186. Find the equations of the straight lines which pass through (4,3) and

are respectively parallel and perpendicular to the x-axis.

° Watch Video Solution

187. Find the equation of a line which is equidistant from the lines

= —2andx = 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_k9RWISy834hZ
https://dl.doubtnut.com/l/_EOfe3Uk4Qb1O
https://dl.doubtnut.com/l/_zXQXhYN5HGXC
https://dl.doubtnut.com/l/_hm2KKiMQGHsL

188. find the equation of a line equidistant from the lines

y=10andy = — 2.

° Watch Video Solution

189. Find the equation of a line with slope -1 and cutting of fan intercept

of 4 units on negative direction of y-axis.

° Watch Video Solution

190. Find the equation of a straight line which cuts off an intercept of 5
units on negative direction of y-axis and makes an angle 120° with the

positive direction of x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_9Z3SF3XrGTFC
https://dl.doubtnut.com/l/_xdFAIUs6kSww
https://dl.doubtnut.com/l/_UlIfje1Qe52P

191. Find the equation of a straight line cutting off and intercept -1 from y-

axis and being equally inclined to the axes.

° Watch Video Solution

192. Find the equation of straight line which cuts off and intercept of
length 3 on y-axis and is parallel to the line joining the points (3,-2) and

(1,4).

° Watch Video Solution

193. Find the equation of the straight line which makes an angle of 15°
with the positive direction of x-axis and which cuts and intercept of

length 4 on then negative direction of y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_dsQhaWNXPeox
https://dl.doubtnut.com/l/_0recRrgTT47P
https://dl.doubtnut.com/l/_iuPqQNh5Xw7n

194. Find the equation of a line making an angle of 150° with the x-axis

and cutting off an intercept 2 from yaxis.

° Watch Video Solution

195. Find the equation of a straight line: with slope 2 and y-intercept 3;

° Watch Video Solution

196. Find the equation of a straight line: with slope -2 and intersecting

the x-axis at a distance of 3 units to the left of origin.

° Watch Video Solution

197. Find the equation of a straight line: with slope -1/3 and y-intercept -4.

° Watch Video Solution



https://dl.doubtnut.com/l/_tg8i6I0875ht
https://dl.doubtnut.com/l/_cNBDkydt4dec
https://dl.doubtnut.com/l/_Clb4xCSkFbvJ
https://dl.doubtnut.com/l/_sgbj3ISVyCNe
https://dl.doubtnut.com/l/_4FnDaDFuwsSE

198. Find the equation of a line which makes an angle of tan~'(3) with
the x-axis and cuts off and intercept of 4 units on negative direction of y-

axis.

° Watch Video Solution

199. Find the equation of a line which is perpendicular to the line joining

(4,2) and (3,5) and cuts off and intercept of length 3 on y-axis.

° Watch Video Solution

200. Find the equation of the perpendicular to the segment joining (4,3)

and (-1,1) if it cuts off and intercept -3 from y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_4FnDaDFuwsSE
https://dl.doubtnut.com/l/_crMuCgQH3UGt
https://dl.doubtnut.com/l/_57ORk7w9dLna

201. Find the equation of the straight line interesting y-axis at a distance
of 2 units above the origin and making an angle of 0° with the positive

direction of the x-axis

° Watch Video Solution

202. Find the equation a line passing through (2,-3) and inclined at an

angle of 15° with the positive direction of x-axis.

° Watch Video Solution

203. Determine the equation of line through the point (-4 -3) and parallel

to x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_1xpzHzpFgh1W
https://dl.doubtnut.com/l/_2GuO1Ikzai9W
https://dl.doubtnut.com/l/_ajYxYuapAbUM

1
204. Find the equation of the line for which tanf = 2 where 6 is the

3
inclination of the line and i. x-intercept equal to 4. li. y-intercepts is — 3

° Watch Video Solution

205. The perpendicular from the origin to a line meets it at the point (-2,

9) find the equation of the line.

° Watch Video Solution

206. Find the equation of the line passing through the point (0,1) making

2
an angle 3 with the positive x-axis. Also, find equation of line parallel to

it and crossing the y-axis at a distance of 2 units below the origin.

° Watch Video Solution



https://dl.doubtnut.com/l/_abyuRSBd1Lea
https://dl.doubtnut.com/l/_rAKAkDfkIIAd
https://dl.doubtnut.com/l/_i4cp8qxxnMT6

207. Two lines passing through the point (2,3) intersect each other at an

angle 60° . If slope of one lineis 2, find the equation of the other line.

° Watch Video Solution

208. Find the equation of the line passing through (-3,5) and

perpendicular to the line through the points (2,50 and (-3,6).

° Watch Video Solution

209. A line perpendicular to the in segment joining the points (1,0) and

(2,3) divides it in the ratio 1: nn . Find the equation of the line.

° Watch Video Solution

210. Find the equation of the perpendicular bisector of the line segment

joining the points (1,1) and (2,3).

| e |


https://dl.doubtnut.com/l/_Qwk37GDpDpjK
https://dl.doubtnut.com/l/_Txlf8ePcx1ru
https://dl.doubtnut.com/l/_YsfeAp5ffINf
https://dl.doubtnut.com/l/_HqE1QnsfqWXN

| & Watch Video Solution I

211. Find the equation of the straight line passing through the point (6,2)

and having slope -3.

° Watch Video Solution

212. Find the equation the straight line passing through (-2,3) and

inclined at an angle of 45° with the x-axis.

° Watch Video Solution

213. Find the equation of the line passing through (0,0) with slope m.

° Watch Video Solution



https://dl.doubtnut.com/l/_HqE1QnsfqWXN
https://dl.doubtnut.com/l/_HVoS93pMxq3w
https://dl.doubtnut.com/l/_SMqJJsrq25RZ
https://dl.doubtnut.com/l/_xguhO4OFhKeZ

214.Find the equation of the line passing through (2, 2\/3) and inclined

with x-axis at an angle of 75° .

° Watch Video Solution

215. Find the equation of the straight line which passes through the point

(1,2) and makes such an angle with the positive direction of x-axis whose

.3
sineis — .
5

° Watch Video Solution

216. Find the equation of the straight line passing through (3,-2) and

making an angle of 60° with the positive direction of y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_JOhJKajfz2ub
https://dl.doubtnut.com/l/_91VOWFdDZMqR
https://dl.doubtnut.com/l/_yIRFjK7BMxWW

2
217.Find the lines through the point (0,2) making angles % and?ﬂ- with
the x-axis. Also, find the lines parallel to the cutting the y-axis at a

distance of 2 units below the origin.

° Watch Video Solution

218. Find the equation of the straight lines which cut off an intercept 5

from the y-axis and are equally inclined to the axes.

° Watch Video Solution

219. Find the equation of the line which intercepts a length 2 on the
positive direction of the x-axis and is inclined at an angle of 135° with the

positive direction of y-axis .

° Watch Video Solution



https://dl.doubtnut.com/l/_kad0XVMRxqiq
https://dl.doubtnut.com/l/_aKQ0XYBavMba
https://dl.doubtnut.com/l/_5DZsTJtwp1ek

220. Find the equation of the straight line which divide the join of the

points (2,3) and (-5,8) in the ratio 3:4 and is also perpendicular to it.

° Watch Video Solution

221. Find the equation of the right bisector of the line segment joining

the points (3,40 and (-1,2).

° Watch Video Solution

222. Find the equation of the right bisector of the line segment joining

eth points A(1, 0)and B(2, 3)

° Watch Video Solution

223. Find the equation of the |line joining the points

(—1,3)and (4, — 2).

| e |


https://dl.doubtnut.com/l/_U0p3flAAlBP4
https://dl.doubtnut.com/l/_7VSMomLTZ86E
https://dl.doubtnut.com/l/_ALNoHpd4aojJ
https://dl.doubtnut.com/l/_IZWIIik1SkD0

I & Watch Video Solution

224.Find the equation of the medians of the triangle ABC whose vertices

are A(2,5)B( —4,9)and C( — 2, — 1).

° Watch Video Solution

225. Prove that the points (5,1), (1, — 1)and (11, 4) are collinear. Also

find the equation of the straight line on which these points lie.

° Watch Video Solution

226. The Fahrenheit temperature F and absolute temperature K satisfy a
linear equation. Given that K = 273 when F' = 32 and that K = 373
whenF' = 212 . Express K in terms of F and find the value of F, when

K =0.

° Watch Video Solution



https://dl.doubtnut.com/l/_IZWIIik1SkD0
https://dl.doubtnut.com/l/_LemdlnPFMIAY
https://dl.doubtnut.com/l/_GHavLJuIYhuT
https://dl.doubtnut.com/l/_UwQ33slrykr4

227.Find the equation of the straight lines passing through the following

pair of point: (0, 0)and (2, — 2).

° Watch Video Solution

228. Find the equation of the straight lines passing through the following

pair of point: (0, — a)and (ats, a/ts)

° Watch Video Solution

229. Find the equation of the straight lines passing through the following

pair of point: (aty, a/t,) and (aty, a /ts)

° Watch Video Solution

230. Find the equation of the straight lines passing through the following

pair of point: (a, b)and (a + csina, b+ ccos a)

| e |


https://dl.doubtnut.com/l/_Jtkef0UI09Z4
https://dl.doubtnut.com/l/_zyIw2S2VVpTc
https://dl.doubtnut.com/l/_DYdssaAbHnbO
https://dl.doubtnut.com/l/_as9O46MsWH0V

I & Watch Video Solution

231. Find the equation of the straight lines passing through the following

pair of point: (a, b)and (a + b, a — b)

° Watch Video Solution

232.Find the equation of the straight lines passing through the following

pair of point: (a cos a, asina)and (a cos B, asinf)

° Watch Video Solution

233. Find the equations to the sides of the triangles of the coordinates of

whose angular points are respectively: (1,4), (2,-3) and (-1, -2).

° Watch Video Solution



https://dl.doubtnut.com/l/_as9O46MsWH0V
https://dl.doubtnut.com/l/_GMe80kRMxef6
https://dl.doubtnut.com/l/_roKeSohhuCYN
https://dl.doubtnut.com/l/_vbEaBhWbpozc

234. If the coordinates of the vertices of triangle ABC are
(—1,6),(—3, —9)and (5, — 8) , respectively, then find the equation

of the median through C.

° Watch Video Solution

235. Find the equation of the side BC of the triangle ABC whose vertices
are A(—1, —2), B(0,1)andC(2,0) respectivley. Also, find the

equation of the median through A( — 1, — 2).

° Watch Video Solution

236. By using the concept of equation of a line, prove that the three

points (3, 0),( 2, 2) and (8, 2) are collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_or1H67gjAPwb
https://dl.doubtnut.com/l/_xMfu3tSF66Yb
https://dl.doubtnut.com/l/_rHR1tGGRyJfH

237.Prove that the liney — x + 2 = 0 divides the join of points (3,-1) and

(8,9) in the ratio 2:3.

° Watch Video Solution

238. Find the equation to the straight line which bisects the distance
between the points (a,b), (a’,b’) and also bisects the distance

between the points ( — a, b)and (a’, —b').

° Watch Video Solution

239.In what ratio is the line joining the points (2, 3)and (4, — 5) divided

by the line passing through the points (6,8) and (-3,-2).

° Watch Video Solution



https://dl.doubtnut.com/l/_hdT7GvW87Por
https://dl.doubtnut.com/l/_n5ZrXSpsly3V
https://dl.doubtnut.com/l/_7PHKs7X4Le7m

240. The vertices of a quadrilateral are
A(—2,6), B(1,2), C(10,4)andD(7,8) . Find the equations of its

diagonals.

° Watch Video Solution

241.The length L (in centimetre) of a copper rod is a linear function of its

Celsius temperature C. In an experiment, if L = 124. 942 when
C = 20and L= 125.134 when C = 110, express L in
terms of C.

° Watch Video Solution

242. Find the equation of the line which cuts off an intercept 4 on the
positive direction of x-axis and an intercept 3 on the negative direction of

y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_HgoUpOa1Dq8k
https://dl.doubtnut.com/l/_52gqUtGquFJ6
https://dl.doubtnut.com/l/_oAAcFaOMdJJB

243. Find the equation of the straight line which makes equal intercepts

on the axes and passes through the point (2,3).

° Watch Video Solution

244, Find the equation of the line which cuts off equal and positive

intercepts from the axes and passes through the point (a, )

° Watch Video Solution

245. Find the equation of a straight line which passes through the point

(4,-2) and whose intercept on y-axis is twice that on x-axis.

° Watch Video Solution

246. Find the equation of the straight line whose intercepts on X-axis and

Y-axis are respectively twice and thrice of those by the line


https://dl.doubtnut.com/l/_2okYCzqe2anW
https://dl.doubtnut.com/l/_d7tckyCZYArd
https://dl.doubtnut.com/l/_UPpfm0Wowt3a
https://dl.doubtnut.com/l/_5KXAgKEyU0Y1

3z + 4y = 12.

° Watch Video Solution

247. Find the equation of the line through (2,3) so that the segment of

the line intercepted between the axes is bisected at this point.

° Watch Video Solution

248. A line passes through the point (3,-2). Find the locus of the middle

point of the portion the line intercepted between the axes.

° Watch Video Solution

249. Find the equations of the lines, which cut-off intercepts on the axes

whose sum and product are 1 and — 6, respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_5KXAgKEyU0Y1
https://dl.doubtnut.com/l/_6DRU1L4tFOJj
https://dl.doubtnut.com/l/_Gchoa5T1sbx0
https://dl.doubtnut.com/l/_Q2koBqq5i03P
https://dl.doubtnut.com/l/_X03CMMGrpeHU

250. Find eqn of lines pass through origin and trisect the intercept of line

3z + 4y = 12 between the axes. 4.

° Watch Video Solution

251. Find the equation to the straight line: cutting off intercepts 3 and 2

from the axes.

° Watch Video Solution

252.Find the equation to the straight line: cutting off intercepts -5 and 6

from the axes.

° Watch Video Solution

253. Find the equation to the straight line which passes through the

point (5,6) and has intercepts on the axes. i)equal in magnitude and both


https://dl.doubtnut.com/l/_X03CMMGrpeHU
https://dl.doubtnut.com/l/_2i4TyTnsoEGP
https://dl.doubtnut.com/l/_WFbbhZYM637p
https://dl.doubtnut.com/l/_URt1OEKzTCsI

postive ii)equal in magnitude but opposite in sign

° Watch Video Solution

254. A straight line passes through the point (a, 8) and this point

bisects the portion of the line intercepted between the axes. Show that

the equation of the straight line is — + A = 1.

28

° Watch Video Solution

255. Point R (h, k) divides a line segment between the axes m the ratio

1:2.Find equation of the line.

° Watch Video Solution

256. Find the equation of the straight line which passes through the
point (-3, 8) and cuts off positive intercepts on the coordinate axes whose

sum is 7.



https://dl.doubtnut.com/l/_URt1OEKzTCsI
https://dl.doubtnut.com/l/_SBSRLuZg0O6e
https://dl.doubtnut.com/l/_JSuZDK9oLQb4
https://dl.doubtnut.com/l/_Kdma9vQAAB68

| ° Watch Video Solution

257. The equation of straight line which passes through the point (-4,3)
such that the portion of the line between the axes is divided by the point

in ratio 5:3 is -

° Watch Video Solution

258. Find the equation of a line which passes through the point
(22, — 6) and is such that the intercept on x-axes exceeds the intercept

on y-axis by 5.

° Watch Video Solution

259. Find the equation of the line which passes through P(1, — 7) and

meets the axes at AandB respectively so that 4AP — 3BP = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_Kdma9vQAAB68
https://dl.doubtnut.com/l/_v6zOxSL4XyYS
https://dl.doubtnut.com/l/_howEtYg5AUUg
https://dl.doubtnut.com/l/_ftvmWo8yt0jN

260. Find equation of the line passing through the point (2, 2) and

cutting off intercepts on the axes whose sum is 9.

° Watch Video Solution

261. Find the equation of straight line which passes through the point
P(2,6) and cuts the coordinate axis at the point A and B respectively so

that AP:BP=2:3.

° Watch Video Solution

262. Find the equations of the straight lines which pass through the
origin and trisect the portion of the straight line 2z + 3y = 6 which is

intercepted between the axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_64bziLWK17y0
https://dl.doubtnut.com/l/_4lF1qLFoPKj9
https://dl.doubtnut.com/l/_M2fgZ2NFSSG3

263. find the equation of the straight line passing through (2,1) and
bisecting the portion of the straight line 3z — 5y = 15 lying between the

axes.

° Watch Video Solution

264. Find the equation of the straight line passing through the origin and
bisecting the portion of the line az + by + ¢ = 0 intercepted between

the coordinate axes.

° Watch Video Solution

265. Find the equation of the straight line which is at a distance 3 from
the origin and perpendicular from the origin to the line makes an angle

of 30° with the positive direction of the x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_fYLvD6Mj7XKT
https://dl.doubtnut.com/l/_OFkIdkJRGxIt
https://dl.doubtnut.com/l/_UO33I20Hrw7Y
https://dl.doubtnut.com/l/_vQEPQpZi5L6Z

266. the length of the perpendicular from the origin to a line is 7 and a
line makes an angle of 150° with the positive direction of y-axis . then the

equation of the line is:

° Watch Video Solution

267. Find the equation of the straight line upon which the length of
perpendicular from origin is 34/2 units and this perpendicular makes an

angle of 75° with the positive direction of x-axis.

° Watch Video Solution

268. Find the equation of a line for which: p = 5, a = 60°

° Watch Video Solution

269. Find the equation of a line for which: p = 8, a = 225°

° Watch Video Solution



https://dl.doubtnut.com/l/_vQEPQpZi5L6Z
https://dl.doubtnut.com/l/_LkvkksRvovYs
https://dl.doubtnut.com/l/_Mto4ACOC1Nxy
https://dl.doubtnut.com/l/_c0hSbFW6KYcp

270. Find the equation of a line for which: p = 8, @ = 300°

° Watch Video Solution

271. Find the equation of the line whose perpendicular distance from the
origin is 4 units and the angle which the normal makes with positive

direction of xaxis is 150° .

° Watch Video Solution

272.Find the equation f the straight line at a distance of 3 units from the
origin such that the perpendicular from the origin to the line makes and

5
angle a given by tana = T2 with the positive direction of x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_c0hSbFW6KYcp
https://dl.doubtnut.com/l/_YEnl42gSs0gh
https://dl.doubtnut.com/l/_hH6nm0CguCIU
https://dl.doubtnut.com/l/_XQO8K9p4iyPg

273. Find the equation of the straight line upon which the length of the

perpendicular from the origin is 2 and the slope of this perpendicular is

5
12

° Watch Video Solution

274. the length of the perpendicular from the origin to a line is 7 and a
line makes an angle of 150° with the positive direction of y-axis . then the

equation of the line is:

° Watch Video Solution

275.Find the values of 6 and p, if the equation x cos § + ysinf = pis the

normal form of the line /3z + y + 2 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_4PCstDeBr46X
https://dl.doubtnut.com/l/_ezyg57zWNPo3
https://dl.doubtnut.com/l/_H6ESHKJla9tT

276. A straight line drawn through the point P(2, 3) and is incline at an
angle of 30° with the x-axis. Find the coordinates of two points on it a

distance 4 from P on either side of P.

° Watch Video Solution

277. Find the distance of the line4z - y = 0 from the point P(4,
1) measured along the line making an angle of 1350 with the positive

Xaxis.

° Watch Video Solution

278. Find the distance of the line 4z + 7y + 5 = 0 from the point (1, 2)

along theline2z —y = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_GJveHEABFioW
https://dl.doubtnut.com/l/_qe31VD9pBN7t
https://dl.doubtnut.com/l/_bcFHlPxSrLa9

279. Find the direction in which a straight line must be drawn through
the point ( —1, 2) so that its point of intersection with the line

x + 'y = 4maybe at adistance of 3 units from this point.

° Watch Video Solution

280. A line is such that its segment between the lines 5z —y+4 =0

and 3z + 4y — 4 = O is bisected at the point (1,5). Obtain its equation.

° Watch Video Solution

281. If the straight line through the point (3,4) makes an angle % with x-

axis and meets the line 12 x + 5y + 10 = 0 at Q, Then the length of PQ is :

° Watch Video Solution



https://dl.doubtnut.com/l/_xoyjA5DFUsbL
https://dl.doubtnut.com/l/_2ie8sfrnFk2J
https://dl.doubtnut.com/l/_dRXFGEXHwAev

282. A Straight line drawn through the point A(2, 1) making an angle
7 /4 with positive x-axis intersects another line z + 2y + 1 = 0 in het

point B. Find length AB .

° Watch Video Solution

283. a line drawn through A(4, — 1) parallel to theline3z — 4y + 1 = 0.
Find the coordinates of two points on this line which are at a distance of

5 units from A

° Watch Video Solution

284.The straight line through P(x1, y;) inclined at an angle 6 with the x-

axis meets the lineaxz + by + ¢ = 0 € Q- Find the length of PQ.

° Watch Video Solution



https://dl.doubtnut.com/l/_9y4m1yrthSuY
https://dl.doubtnut.com/l/_uALCvFGkW8DA
https://dl.doubtnut.com/l/_jwSjlR3YX1PG

285. Find the distance of point (2,3) from the line 22 —3y+9 =20

measured along a line making an angle of 45° with the x-axis.

° Watch Video Solution

286. Find the distance of the point (2,5) from the line 3z +y+4 =0

measured parallel to a line having slope 3/4.

° Watch Video Solution

287. Find the distance of the point (3,5) from the line 2z + 3y = 14

measured parallel to the line x — 2y = 1.

° Watch Video Solution

288. Find the distance of the point (2,5) from the line 3z +y+4 =0

measured parallel to the line3z — 4y +8 =0

| e |


https://dl.doubtnut.com/l/_gf0vp8x08KgE
https://dl.doubtnut.com/l/_09pAAASAXD3A
https://dl.doubtnut.com/l/_nIq3Y0Gr8Eix
https://dl.doubtnut.com/l/_dTFdQ7BBtjSS

I & Watch Video Solution

289. Find the distance of the line 2z + y = 3 from the point( — 1, — 3)

in the direction of the line whose slope is 1.

° Watch Video Solution

290. A line is such that its segment between the lines 5z —y+4 =0

and 3z + 4y — 4 = O is bisected at the point (1,5). Obtain its equation.

° Watch Video Solution

291. The equation of straight line passing through (-2,-7) and having an

intercept of length 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_dTFdQ7BBtjSS
https://dl.doubtnut.com/l/_i6B8uX0iapS9
https://dl.doubtnut.com/l/_vZ6dABSwLR64
https://dl.doubtnut.com/l/_tB6o44D2PMmX

292. Reduce the lines 3z —4y+4 =0 and 4z — 3y + 12 = 0 to the

normal form and hence determine which line is nearer to the origin.

° Watch Video Solution

293. Reduce the lines 3z —4y+4 =0 and 2z +4y — 5 =0 to the

normal form and hence determine which line is nearer to the origin.

° Watch Video Solution

294. Find the equation of a line with slope 2 and the length of the

perpendicular form the origin equal to /5.

° Watch Video Solution

295. Find the distance of the point (2,5) from the line 3z +y+4 =0

measured parallel to the line3z — 4y +8 =0

| e |


https://dl.doubtnut.com/l/_l90b22EUinJQ
https://dl.doubtnut.com/l/_B6mWzbA2IfkT
https://dl.doubtnut.com/l/_zfkoopZcJdMR
https://dl.doubtnut.com/l/_1ooMWcfFBien

I &J Watch Video Solution

296. Reduce the following equations to the normal form and find p and o

in each case: z — y = 4.

° Watch Video Solution

297.Reduce the equation /3z + y + 2 = 0 to: Slope intercept form and
find slope and y-intercept. Intercept form and find intercept on the axes

The normal form and find p and o

° Watch Video Solution

298. Reduce the following equations to the normal form and find p and o

ineach case:z + /3y —4 =10

° Watch Video Solution



https://dl.doubtnut.com/l/_1ooMWcfFBien
https://dl.doubtnut.com/l/_Mkc0SGkHequU
https://dl.doubtnut.com/l/_9lZ0APsymjv8
https://dl.doubtnut.com/l/_EVIqm0PpMkBY
https://dl.doubtnut.com/l/_XD9CfYMMdGYx

299. Reduce the following equations to the normal form and find p and o

ineachcase:z +y++/2=0

° Watch Video Solution

300. Reduce the following equations to the normal form and find p and «

ineachcase:z —y + 22 =10

° Watch Video Solution

301. Reduce the following equations to the normal form and find p and o

ineachcase:x —3 =0

° Watch Video Solution

302. Reduce the following equations to the normal form and find p and o

ineachcase:y —2 =10

° Watch Video Solution



https://dl.doubtnut.com/l/_XD9CfYMMdGYx
https://dl.doubtnut.com/l/_3tFmw3htUJrv
https://dl.doubtnut.com/l/_exM5AmVGtFv4
https://dl.doubtnut.com/l/_O29CzvBszDbk

303. Put the equation % + Y _ 1 to the slope intercept form and find

b

its slope and y-intercept

° Watch Video Solution

304. Reduce the following equations to the normal form and find p and «

ineachcase:z —y + 22 =10

° Watch Video Solution

305. Find the values of 8 and p, if the equation z cos @ + ysinf = pis the

normal form of the linez — /3y — 12 = 0

° Watch Video Solution



https://dl.doubtnut.com/l/_O29CzvBszDbk
https://dl.doubtnut.com/l/_2lnVNvhrCI8B
https://dl.doubtnut.com/l/_JOOsELkNTNTx
https://dl.doubtnut.com/l/_UqajXVHFQTAu

306. Find the values of 8 and p, if the equation z cos @ + ysinf = pis the

normal form of the line /3z + y + 2 = 0.

° Watch Video Solution

307.Reduce the equation 3z — 2y 4+ 6 = 0 to the intercept form and find

the z and y intercepts.

° Watch Video Solution

308. The perpendicular distance of a line from the origin is 5 units and its

slope is -1. Find the equation of the line.

° Watch Video Solution

309. Find the coordinates of the point of intersection of the lies

2 —y+3=0andz +2y—4=0.

| e |


https://dl.doubtnut.com/l/_ltyr7xh2oVMd
https://dl.doubtnut.com/l/_FnmfV3QUeV1l
https://dl.doubtnut.com/l/_4XxTX7hrEAZ0
https://dl.doubtnut.com/l/_2sJNOnlzIX2E

| & Watch Video Solution I

310. Find the area of the triangle formed by the lines

y=x,y=2z,y=3x +4

° Watch Video Solution

311. \ The equation of the medians of a triangle formed by the lines

r+y—6=0,z —3y—2=0andb5z —3y+2=20Iis

° Watch Video Solution

312. Show that the area of the triangle formed by the lines

(a1 — )

y=mix +c,y=mexr +c2andzxz =0is
2|m1—m2]

o Watch Video Solution



https://dl.doubtnut.com/l/_2sJNOnlzIX2E
https://dl.doubtnut.com/l/_7NJEm8XF1pOr
https://dl.doubtnut.com/l/_qrg1wZyAZx80
https://dl.doubtnut.com/l/_bDfxfhQ3EFNI

313. Find the equation of the line parallel to y-axis and drawn through the

point of intersection of thelinesx — 7y +5 = 0and 3z + y = 0.

° Watch Video Solution

314. Find the point of intersection of the following pairs of lines:

2t —y+3=0andz+y—5=0

° Watch Video Solution

315. Find the point of intersection of the following pairs of lines:

bxr + ay = aband bx + by = ab

° Watch Video Solution

316. Find the point of intersection of the following pairs of lines:

a a
y=miz + —andy = mexr + —.
mi ma

| e |


https://dl.doubtnut.com/l/_Imni4ITu1boh
https://dl.doubtnut.com/l/_fQ5OjcW7kdHI
https://dl.doubtnut.com/l/_ZoqXXbz97Yqm
https://dl.doubtnut.com/l/_asCesG8NVx8z

I & Watch Video Solution

317. Find the coordinates o the vertices of a triangle, the equations of

whosesidesare:z +y—4 =0, 2r —y+3=0andz —3y+2=0

° Watch Video Solution

318. Find the coordinates o the vertices of a triangle, the equations of
whose sides are:

y(ty + t3) = 2z + 2atiats, y(ts + t3) = 2z + 2atstz and , y(ts + t1) = 2z

° Watch Video Solution

319. Show that the area of the triangle formed by the lines

(a1 — )

y=mix +c,y=mexr +c2andzxz =0is
2\m1—m2]

° Watch Video Solution



https://dl.doubtnut.com/l/_asCesG8NVx8z
https://dl.doubtnut.com/l/_7EJh5I7FlIIA
https://dl.doubtnut.com/l/_sAmrSV1tswFv
https://dl.doubtnut.com/l/_RiCQyATjmHvZ
https://dl.doubtnut.com/l/_noLSZbbtyFMk

320. Find the area of triangle formed by the Ilines
y=0,z=2andzx + 2y = 3.

° Watch Video Solution

321. Find the area of triangle formed by the lines

r+y—6=0,x—3y—2=0andd5z —3y+2=0

° Watch Video Solution

322. Find the equations of the medians of a triangle, the equations of

whose sides are:
3r+2y+6=0,2x —by+4=0andz —3y—6=0

° Watch Video Solution
323. Prove that the lines y = 3z + 1, y=4ndy = — /3z + 2 form

an equilateral triangle.


https://dl.doubtnut.com/l/_noLSZbbtyFMk
https://dl.doubtnut.com/l/_WnYCdCBG0Rgk
https://dl.doubtnut.com/l/_GKlOBaDZdtSw
https://dl.doubtnut.com/l/_xcTh4iCYVx01

° Watch Video Solution

324. Classify the following pairs of lines as coincident, parallel or

intersecting: 2z +y—1=0and3x +2y+5=0

° Watch Video Solution

325. Classify the following pairs of lines as coincident, parallel or

intersecting: 3z + 2y —4 =0and 6z + 4y — 8 =0

° Watch Video Solution

326. Find the equation of the line joining the point (3,5) to the point of

intersection of thelinesdz +y—1=0and 7Tx — 3y —35=0

° Watch Video Solution



https://dl.doubtnut.com/l/_xcTh4iCYVx01
https://dl.doubtnut.com/l/_8OWZW3fv6bAW
https://dl.doubtnut.com/l/_VgEP2BrXrozt
https://dl.doubtnut.com/l/_G3wVlCnYjgDZ

327. Find the equation of the lien passing through the point of
intersection of the lines 4o — 7Ty — 3 = O and 2z — 3y + 1 = 0 that has

equal interception te axes.

° Watch Video Solution

328. Show that the area of the triangle formed buy the lines
y=mx,y =mexandy =c is equal to
2
c
Z(\/33+\/ﬁ)wh6rem1, my are the roots of the equation

2+ (vV3+2)z++/3-1=0.

° Watch Video Solution

329. Prove that the lines
V3z+y=0,3y+2=0, 3z +y=1and3y+z =1 form a

rhombus.

° Watch Video Solution



https://dl.doubtnut.com/l/_LIcCeTYUvY3R
https://dl.doubtnut.com/l/_5CGgIdUFxuEi
https://dl.doubtnut.com/l/_cQBfCsMle1u9

330. Find the equation of the line passing through the intersection of the
lines 2z +y=>5andx +3y+8 =0 and parallel to the line

3r+4y=1T.

° Watch Video Solution

331. Prove that the lies

3t +y—14 =0, z — 2y = Onad 3x — 8y + 4 = 0 are concurrent.

° Watch Video Solution

332. If the lines
a1z +biy+1=0, asx +by+1=0andazx +byy+1=0 are
concurrent, show that the points (ai, b;), (as, by)and (a3, bs) are

collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_OaCHUVTech5C
https://dl.doubtnut.com/l/_izQig6RldkS2
https://dl.doubtnut.com/l/_0vSVp7CTGiCV
https://dl.doubtnut.com/l/_xkMGYsehAhTl

333. Show that the following lines are  concurrent:
Li=(a—-bz+(b—cy+(c—a)=0
Ly=(b—-cz+(c—a)y+(a—>b) =0

Ly=(c—a)z+(a—by+(b—c)=0

° Watch Video Solution

334. Prove that the following sets of three lines are concurrent:

152 — 18y +1 =0, 12z + 10y — 3 = 0 and 6z + 66y — 11 = 0.

° Watch Video Solution

335. Prove that the following sets of three lines are concurrent:

T T Y
a+ ’b+a andy = x

° Watch Video Solution



https://dl.doubtnut.com/l/_xkMGYsehAhTl
https://dl.doubtnut.com/l/_wcXXo1LyofAx
https://dl.doubtnut.com/l/_msHwhG87Mjbf

336. For what value of A are the three lines

2c —5y+3=0, 52 — 9y + A = 0and z — 2y + 1 = 0 concurrent?

° Watch Video Solution

337. Find the conditions that the straight lines

Yy =miT + ¢,y = Mo + cxand y = mex + c3 may meet in a point.

° Watch Video Solution

338. Show that the straight lines
Li=(b+czr+ay+1=0, Ly=(ct+a)z+by+1=0nd L3 =(a+b

are concurrent.

° Watch Video Solution



https://dl.doubtnut.com/l/_WuaNcYV7uq1Z
https://dl.doubtnut.com/l/_EhAGQ9bCjixg
https://dl.doubtnut.com/l/_9b7TLG2nGjmW

339. If the three lines
ar +a’y+1=0, bz +by+1=0andcx +cy+1=0 are

concurrent, show that at least two of three constants a, b, c are equal.

° Watch Video Solution

340. If a, b,c are in AP. prove that the straight lines
ax +2y+1=0,bx+3y+1=0andcr +4y+1=0 are

concurrent.

° Watch Video Solution

341. Show that the perpendicular bisectors of the sides of a triangle are

concurrent.

° Watch Video Solution



https://dl.doubtnut.com/l/_AVIa3LJR9drU
https://dl.doubtnut.com/l/_c7CCoTHXTM5u
https://dl.doubtnut.com/l/_s3kJhhX6gEL9

342. Find the equation of the line which is parallel to 3z — 2y +5 =0

and passes through the point (5, — 6)

° Watch Video Solution

343.Find the equation of the straight line that passes through the point

(3,4) and is perpendicular to the line 3z + 2y + 5 =0

° Watch Video Solution

344. Find equation of the line perpendicular to the linex — 7y +5 =0

and having x intercept 3.

° Watch Video Solution

345. A person standing at the junction (crossing) of two straight paths

represented by the equations 2z —3y+4 =0 and 3z +4y—-5=10


https://dl.doubtnut.com/l/_sQBaYBepEQZI
https://dl.doubtnut.com/l/_zxwPTYYbuvzG
https://dl.doubtnut.com/l/_dLniCvuIspXP
https://dl.doubtnut.com/l/_PoH0Y430FzNd

wants to reach the path whose equation is 6x — 7y + 8 = 0 in the least

time. Find equation of the path that he should follow.

° Watch Video Solution

346. The equations of two sides of a ‘triangle are
3r — 2y + 6 = 0 and 4z + 5y — 20 and the orthocentre is (1,1). Find the

equation of the third side.

° Watch Video Solution

347. Find the circumcentre of the triangle whose sides are

3r —y+3=0,3z+4y+3=0and = + 3y + 11 = 0.

° Watch Video Solution

348. Find the equation of a line passing through the point (2,3) and

parallel to the line and parallel to thelinez — 4y + 5= 0.



https://dl.doubtnut.com/l/_PoH0Y430FzNd
https://dl.doubtnut.com/l/_4jIdDh55wae1
https://dl.doubtnut.com/l/_PwKA5Ox0n2FD
https://dl.doubtnut.com/l/_5Fkgnlacup5X

| ° Watch Video Solution

349. find the equation of a line passing through (3,-2)and perpendicular

tothelinez —3y+5=0

° Watch Video Solution

350. Find the equation of the perpendicular bisector of the line joining

the points (1,3) and (3,1).

° Watch Video Solution

351. Find the equation is of the altitudes of as DeltaA BC whose vertices

are A(1,4), B( — 3,2)andC( — 5, — 3).

° Watch Video Solution



https://dl.doubtnut.com/l/_5Fkgnlacup5X
https://dl.doubtnut.com/l/_NFBAWGYwPiWn
https://dl.doubtnut.com/l/_HKDO3LBZzgtQ
https://dl.doubtnut.com/l/_xhNSvI76JK9V

352. Find the equation of a line which is perpendicular to the line
V3 —y+5 =0 and which cuts of an intercept of 4 units with the

negative direction of y-axis.

° Watch Video Solution

353. Find the equation of the straight line through the point («, ) and

perpendiculasr to the line lx + my + n = 0.

° Watch Video Solution

354.Find the equation of the straight line perpendicular to 2z — 3y = 5

and cutting off an intercept 1 on the positives direction of the x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_bmKGsveptPOF
https://dl.doubtnut.com/l/_3KTc2hsdlynC
https://dl.doubtnut.com/l/_i12nOMiufU3Q

355. Find the equation of the straight line perpendicular to bz — 2y = 8
and which passes through the mid point of the line segment joining (2,3)

and (4,5).

° Watch Video Solution

356. Find the equation of the straight line which has y-intercept equal to

4/3 and is perpendicular to 3z — 4y + 11 = 0.

° Watch Video Solution

357. Find the equation of the right bisector of the line segment joining

the points (a, b)and (ay, by)-

° Watch Video Solution



https://dl.doubtnut.com/l/_TY5zIM4TA0rs
https://dl.doubtnut.com/l/_o1xHTF09sZkp
https://dl.doubtnut.com/l/_pLxi28sbUF8S

358. Find the image of the point (2,1) with respect to the line mirror

z+y—5=0

° Watch Video Solution

359. If the image of the point (2, 1) with respect to a line mirror be

(5,2), find the equation of the mirror.

° Watch Video Solution

360. Find the equation to the straight line parallel to 3z — 4y +6 =0
and passing through the middle point of the joint of points (2,3), and

(4,1).

° Watch Video Solution



https://dl.doubtnut.com/l/_qZak61dcKJgC
https://dl.doubtnut.com/l/_9GPMzvd0yoQp
https://dl.doubtnut.com/l/_qMlCxt2MLJA4

361. Prove that the lines
2 —3y+1=0,z4+y=3,2xr —3y=2andx+y=4 form a

parallelogram.

° Watch Video Solution

362. Find the equation of a line drawn perpendicular to the line

Y

+ i 1 through the point where it meets the y axis.

z
4

° Watch Video Solution

363. The perpendicular from the origin to the line y = mz + ¢ meets it

at the point (-1,2). Find the values of m and c

° Watch Video Solution



https://dl.doubtnut.com/l/_44DcLe9fUdJF
https://dl.doubtnut.com/l/_Fv3MF4CAv7Vd
https://dl.doubtnut.com/l/_g6UXie98AT4N

364. Find the equation of the right bisector of the line segment joining

the points (3, 4) and ( — 1.2).

° Watch Video Solution

365. The line through (h,3)and (4,1) intersects the line k

Tx — 9y — 19 = 0 at right angle. Find the value of h.

° Watch Video Solution

366. Find the image of the point (3, 8)with respect to the line x + 3y = 7

assuming the line to be a plane mirror.

° Watch Video Solution

367. Find the coordinates of the foot o the perpendicular from the point

(-1,3)to theline3xz —4y — 16 =0

| e |


https://dl.doubtnut.com/l/_LJuSFlz2ETE1
https://dl.doubtnut.com/l/_5RgMHHtJd8e8
https://dl.doubtnut.com/l/_lynr01SMq4fJ
https://dl.doubtnut.com/l/_eMT88dpw6817

I & Watch Video Solution

368. Find the projection of the point (1,0) on the line joining the points

(-1,2) and (5,4).

° Watch Video Solution

369. Find the equation of a line perpendicular to the line3z +y+ 5 =0

and at a distance of 3 units from the origin.

° Watch Video Solution

370.The line 2z + 3y = 12 meets the x-axis at A and y-axis at B. The line
through (5,5) perpendicular to AB meets the x-axis and the line AB at C
and E respectively. If O is the origin of coordinates, find the area of figure

OCEB.

° Watch Video Solution



https://dl.doubtnut.com/l/_eMT88dpw6817
https://dl.doubtnut.com/l/_HInCHMfC8EyQ
https://dl.doubtnut.com/l/_FrGisNMS9CV3
https://dl.doubtnut.com/l/_wHbmvkGIHMjv

371. Find the equation of the straight line which cuts off intercept on X-

axis which is twice that on Y-axis and is at a unit distance from the origin.

° Watch Video Solution

372. The equations of the perpendicular bisectors of the sides
ABandAC of triangle ABC are ¢ —y+5=0 and z+2y=0 ,
respectively. If the point A is (1, — 2) , then find the equation of the line

BC.

° Watch Video Solution

373. Find the angles between the pairs of straight lines:

T+/3y—5=0and 3z +y—T7=0

° Watch Video Solution



https://dl.doubtnut.com/l/_o6skAHfuC8Da
https://dl.doubtnut.com/l/_RHtsNXhzzRr4
https://dl.doubtnut.com/l/_1AQjdbTnmLJz

374. Find the angles between the pairs of straight lines:

Y= (2—\/§)x—|—5andy: (2+\/§)m—7.

° Watch Video Solution

375. Find the obtuse angle between the lines

xr—2y+3=0and3x+y—1=0.

° Watch Video Solution

376. A line passing through the points (a, 2a) and (—2, 3) is

perpendicular to the line 4z 4+ 3y + 5 = 0, find the value of a.

° Watch Video Solution

377.The hypotenuse of a right angled triangle has its ends at the points

(1,3) and (4, 1) . Find the equation of the legs (perpendicular sides) of


https://dl.doubtnut.com/l/_XrwKcuXMNrV0
https://dl.doubtnut.com/l/_r2Cktd3fzeH5
https://dl.doubtnut.com/l/_qU6U8iWv26ZC
https://dl.doubtnut.com/l/_f7Hh51nxFNMN

the triangle.

° Watch Video Solution

378. Find the angles between each of the following pairs of straight line:

3r+y+12=0andz+2y—1=0

° Watch Video Solution

379. Find the angles between each of the following pairs of straight line:

3r+4y—7=0and4z —3y+5=0

° Watch Video Solution

380. Find the angles between each of the following pairs of straight line:

3r —y+5=0andxz —3y+1=0

° Watch Video Solution



https://dl.doubtnut.com/l/_f7Hh51nxFNMN
https://dl.doubtnut.com/l/_7A7r8PBfncUB
https://dl.doubtnut.com/l/_VHm5ZH6uRHAc
https://dl.doubtnut.com/l/_pgwJkpH7TvlR
https://dl.doubtnut.com/l/_0ibQ5TpJL2Gt

381. Find the angles between each of the following pairs of straight line:

x —4y = 3and 6z —y = 11.

° Watch Video Solution

382. Find the acute angle between the lines

2t —y+3=0andzx +y+2=0.

° Watch Video Solution

383. Prove that the points (2,-1), (0,2), (2,3) and (4,0) are the coordinates
other vertices of a parallelogram and find the angle between its

diagonals.

° Watch Video Solution



https://dl.doubtnut.com/l/_0ibQ5TpJL2Gt
https://dl.doubtnut.com/l/_xBbuPvlmK601
https://dl.doubtnut.com/l/_IHDXfUw1EFIa

384.Find the angle between the line joining the points (2,0), (0,3) and the

linex +y=1.

° Watch Video Solution

385. If 6 is the angle which the straight line joining the points

(z1,y1)and (z3,ys) subtends at the origin, prove that

To2Yy1 — T1Y2 T1x2 + Y1Y2
—— — andcosf =
1Ty + Y192 VT12 + y12222 + y22

tanf =

° Watch Video Solution

386. Find the angle between the linesx = aand by + ¢ = 0.

° Watch Video Solution

387. Find the tangent of the angle between the lines which have

intercepts 3, 4, and 1, 8 on the axes respectively.



https://dl.doubtnut.com/l/_gNkSK31DLFJa
https://dl.doubtnut.com/l/_0paXQXyUDrVN
https://dl.doubtnut.com/l/_KDBRcVkhPrRP
https://dl.doubtnut.com/l/_IFhDMv8TstEY

| ° Watch Video Solution

388. Show that the line a*z 4 ay + 1 = 0 is perpendicular to the line

x — ay = 1for all non zero real values of a-

° Watch Video Solution

389. Show that the tangent of an angle between the lines % + % =1
x y ..  2ab
and 3 — E =1 'LSm

° Watch Video Solution

390. Find the values of the parameter a so that the point (a, 2) is an
interior point of the triangle formed by the lines x+y-4=0, 3x-7y-8=0and 4x-

y31=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_IFhDMv8TstEY
https://dl.doubtnut.com/l/_MfTGrcKSm3yZ
https://dl.doubtnut.com/l/_Xu0GGQNkiozD
https://dl.doubtnut.com/l/_sbe7dcPLTz3M
https://dl.doubtnut.com/l/_9erE08UoVhHX

391. ermine whether the point( — 3, 2) lies inside or outside the triangle
whose sides are given by the equations

xr+y—4xr+8—-0,4c —y— 31— 0.

° Watch Video Solution

392. Find the distance between the line 12z — 5y + 9 = 0 and the point

2,.

° Watch Video Solution

393. If p and p be the perpendicular form the origin upon the straight

lines x secl + ycosecd = a and x cos @ — ysinf = a cos 20

Prove that : 4p® + p? = a?

° Watch Video Solution



https://dl.doubtnut.com/l/_9erE08UoVhHX
https://dl.doubtnut.com/l/_MzHi7h2VG3vC
https://dl.doubtnut.com/l/_tYqMLEtzAEy1

394. What are the points on x-axis whose perpendicular distance from the

linedz + 3y = 12is47?

° Watch Video Solution

395. Find the points on y-a xi s whose perpendicular distance from the

linedr — 3y — 12 =0is 3.

° Watch Video Solution

396. The points on = + y = 4 that lie at a unit distance from the line

4z + 3y — 10 = are

° Watch Video Solution

397. Find the distance of the point (4,5) from the straight line

3r —5y+7=0

| e |


https://dl.doubtnut.com/l/_Uu4utOht7g6r
https://dl.doubtnut.com/l/_Azbi3XlwZHdc
https://dl.doubtnut.com/l/_WX2lFmRF2Cty
https://dl.doubtnut.com/l/_rhVjkDuL6H2r

I & Watch Video Solution

398. Find the perpendicular distance of the line joining the points

(cos 0, sinf) and (cos ¢, sinf) and (cos ¢ and sin ¢) from the origin.

° Watch Video Solution

399. Find the length of the perpendicular from the origin to the straight
line  joining the two  points whose coordinates are

(acosa, as € a)and (acos B, asinpf).

° Watch Video Solution

400. Show that the perpendiculars let fall from any point on the straight
line 2z 4+ 1ly—5=0  upon the  two  strasightr lines

24z + 7y = 20 and 4x — 3y — 2 = 0 are equal to each other.

° Watch Video Solution



https://dl.doubtnut.com/l/_rhVjkDuL6H2r
https://dl.doubtnut.com/l/_RQxbjCQOFNSV
https://dl.doubtnut.com/l/_18oAWT1zOt3r
https://dl.doubtnut.com/l/_oxYJY2Ogfwjt

401. Find the length of the perpendicular draw from the point (4, — 7)
upon the straight line passing through the origin and the point of

intersection of the lines 22— 3y + 14 = 0and 52 + by = 7

° Watch Video Solution

402. What are the points on the x-axis whose perpendicular distance from

theline = + ¥ — 1isa
a b

° Watch Video Solution

403. Show that the product of perpendiculars on the line

%cosO + %s/hn = 1 from the points ( + /a? — b, O)is b

° Watch Video Solution



https://dl.doubtnut.com/l/_pncSvRi86BHD
https://dl.doubtnut.com/l/_kTFdkhqXEFy8
https://dl.doubtnut.com/l/_LcFMKmvYFRn2

404. Find the perpendicular distance from the origin of the perpendicular

from the point (1,2) upon the straight linez — 3y + 4 = 0.

° Watch Video Solution

405. Find the distance of the point (1,2) from the straight line with slope 5
and passing  through  the point of intersection of

r+2y=5andzr — 3y =1"T.

° Watch Video Solution

406. What are the points on the yaxis whose distance from the line

Y

= = 1lis 4 units.
+4 IS 4 units

r
3

° Watch Video Solution



https://dl.doubtnut.com/l/_LgOxkA12FeT2
https://dl.doubtnut.com/l/_5CH9uDxGiKYk
https://dl.doubtnut.com/l/_aSn34IGaREwq

407. In the triangle ABC with vertices A (2, 3), B (4, 1) and C (1, 2), find the

equation and length of altitude from the vertex A.

° Watch Video Solution

408. Show that the path of a moving point such that its distances from

two lines 3z — 2y = 5and 3x + 2y = bHare equal is a straight line.

° Watch Video Solution

409. If sum of the perpendicular distances of a variable point P(z, y)
from the lines = + y5 = Oand 3z2y + 7 = Ois always 10. Show that P

must move on a line.

° Watch Video Solution



https://dl.doubtnut.com/l/_ef5nW9cqa4Od
https://dl.doubtnut.com/l/_SpUk0HKGRJl4
https://dl.doubtnut.com/l/_ndCQx8Ioe0d1

410. Find the  distance  between the parallel lines

3r —4dy+9=0and 6 — 8y — 15 = 0.

° Watch Video Solution

411. Find the equation of the line mid way between the parallel lines

9r + 6y — 7=0and 3z + 2y + 6 = 0.

° Watch Video Solution

412. Determine the distance between the pair of parallel lines :

dr —3y—9=0and 4o —3y—24 =0

° Watch Video Solution

413. Determine the distance between the following pair of parallel lines:

8z + 15y — 34 = Oand 8z + 15y + 31 = 0

| e |


https://dl.doubtnut.com/l/_dTp93ShWL3Kg
https://dl.doubtnut.com/l/_JCUa5vy24c8U
https://dl.doubtnut.com/l/_4fH1hfpTH4Vc
https://dl.doubtnut.com/l/_9vWHuQc1XZ1n

| & Watch Video Solution I

414. Determine the distance between the following pair of parallel lines:

y=mz+candy=mx +d

° Watch Video Solution

415. Determine the distance between the following pair of parallel lines:

4z + 3y — 11 = 0 and 8z + 6y = 15.

° Watch Video Solution

416. If two sides of a square are along b5x — 12y + 26 =0 and

5r — 12y — 65 = 0 then find its area.

° Watch Video Solution



https://dl.doubtnut.com/l/_9vWHuQc1XZ1n
https://dl.doubtnut.com/l/_hA4KHICxWta9
https://dl.doubtnut.com/l/_a3jPOEyrD68g
https://dl.doubtnut.com/l/_zN4lxbsoi8vm

417. Prove that the lines 2z 4+ 3y =19 and 2x +3y+ 7 =0 are

equidistant from the line 2z + 3y = 6.

° Watch Video Solution

418. Find the equation of the line midway between the parallel lines

9r + 6y —7=0and 3z +2y+6 =0

° Watch Video Solution

419. Prove that the area of the parallelogram contained by the lines

d4y—3x —a=0,3y —4x +a =0,4y — 3x — 3a = 0, and
(2 o
3y —4z + 2a = 0is = a’

o Watch Video Solution



https://dl.doubtnut.com/l/_ph1tV5HNGbG8
https://dl.doubtnut.com/l/_zVOIWCvdD7FZ
https://dl.doubtnut.com/l/_K3Yxdq2I4L19

420. The equation of two straight lines through (7,9) and making an

angle of 60° with the linez — /3y — 24/3 = 0'is

° Watch Video Solution

421.Find the equation of the lines through the point (3, 2) which make an

angle of 45° with the line x — 2y = 3.

° Watch Video Solution

422.Show that the equation of the straight line through the origin angle

. . Ly m £ tanp
¢ with theliney = mz + bis— = ————
x 1+ mtaney

° Watch Video Solution

423. One diagonal of a square is along the line 8¢ — 15y = 0 and one of

its vertex is (1, 2). Then the equations of the sides of the square passing


https://dl.doubtnut.com/l/_Vzc7QcpIaW5f
https://dl.doubtnut.com/l/_fVysXlV1Mj7I
https://dl.doubtnut.com/l/_85X1LXMkLB0t
https://dl.doubtnut.com/l/_nXm6CdyNBLLh

through this vertex are 23x + Ty =9, Tx + 23y = 53
23 —Ty+9=0,7c + 23y +53 =0

23z — Ty — 9 =0, 7z + 23y — 53 = 0 none of these

° Watch Video Solution

424. Find the equation f eth straight lines passing through the origins

and making an angle of 45° with the straight line \/3z + y = 11.

° Watch Video Solution

425. Find the equations of the straight lines passing through (2,-10 and

making and angle of 45° with the line 6z + 5y — 8 = 0

° Watch Video Solution

426. Find the equations of the lines which pass through the origin and

are inclined at an angle tan ! m to the liney = mz + ¢



https://dl.doubtnut.com/l/_nXm6CdyNBLLh
https://dl.doubtnut.com/l/_Klr9YhlGD2Se
https://dl.doubtnut.com/l/_4NAcgEgWfBeu
https://dl.doubtnut.com/l/_PvaD5aR8kryX

| ° Watch Video Solution

427. Find the equations t the straight lines passing through the point

(2,3) and inclined at an angle of 45° to the liney = 3z + 4.

° Watch Video Solution

428. The equation of one side of an equilateral triangle is x — y = 0 and
one vertex is (2 + /3, 5) . Prove that a second side s

y+ (2 — /3)z = 6 and find the equation of the third side.

° Watch Video Solution

429. Find the equations of two straight lines passing though (1,2) and
making an angle of 60° with the line x + y = 0. Find also the area of the

triangle formed by the three lines.

° Watch Video Solution



https://dl.doubtnut.com/l/_PvaD5aR8kryX
https://dl.doubtnut.com/l/_q4jYy5UH1gAx
https://dl.doubtnut.com/l/_OmZI7ztuWmZM
https://dl.doubtnut.com/l/_jXLnJ3iGuZQN

430. Show that the point (3,-5) lies between the parallel lines
2¢ +3y—7=0and 2z = 3y + 12 = 0 and find the equation of lines

through (3,-5) cutting the above lines at an angle of 45° .

° Watch Video Solution

431. If two opposite vertices of a square are (1,2) and (5,8) find the

coordinates of its other two vertices and the equations of its sides.

° Watch Video Solution

432. Obtain the equations of the line passing through the intersection of
lines 4 — 3y — 1 = 0 and 2x — 5y + 3 = 0 and equally inclined to the

axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_iCESnt9hXEiM
https://dl.doubtnut.com/l/_q1d3beRyNfji
https://dl.doubtnut.com/l/_F0nE9nbpMzAE

433. Let ax+by+c=0 be a variable straight line, where a, b and c are 1st, 3rd
and 7th terms of some increasing AP. Then the variable straight line

always passes through a fixed point which lies on

° Watch Video Solution

434.Find the equation of a straight line through the point of intersection
of the lines 4z —3y=0and2x —5y+3 =0 and parallel to

Az + 5y + 6 = 0.

° Watch Video Solution

435. Find the equation of a straight line passing through the point of
intersection of £ + 2y + 3 = 0 and 3z + 4y + 7 = 0 and perpendicular

to the straight linexz —y + 8 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_3zSxHF6tVXMd
https://dl.doubtnut.com/l/_dSBkcc9jAddY
https://dl.doubtnut.com/l/_4QjmiSs5tdf5
https://dl.doubtnut.com/l/_3LXfD8uVFQCV

436. Find the equation of the line passing through the point of
intersection of 2z — 7y + 11 = O and z + 3y — 8 = 0 and is parallel to i.

x-axis ii. y-axis.

° Watch Video Solution

437. Find the equation of the straight line drawn through the point of
intersection of the lines £ + y = 4 and 2z — 3 = 1 and perpendicular to

the line cutting off intercepts 5,6 on the axes.

° Watch Video Solution

438. Prove that the family of lines represented by
z(14+ X)) +y(2—A) +5=0,\ being arbitrary, pass through a fixed

point. Also find the fixed point.

° Watch Video Solution



https://dl.doubtnut.com/l/_3LXfD8uVFQCV
https://dl.doubtnut.com/l/_IfyiOV2NmXTo
https://dl.doubtnut.com/l/_EprcoVNkixlD

439. Find the equation of the straight line which passes through the
point of intersection of the lines 3z — y = 5 and x + 3y = 1 and makes

3
with the coordinate axes a triangle of area— sq. units.

° Watch Video Solution

440. Find the equation of the line through the point of intersection of,
the linesz — 3y + 1 = 0 and 2z + 5y — 9 — 0 and whose distance from

the origin is /5

° Watch Video Solution

441. Write an equation representing a pair of lines through the point

(a, b) and parallel to the coordinate axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_ImWMSxqR4tdR
https://dl.doubtnut.com/l/_dTv9csJclR9V
https://dl.doubtnut.com/l/_IqLfT4AZeaFv

442, Write the coordinates of the orthocentre of the triangle formed by

the lines > — y?> = 0 and = + 6y = 18.

° Watch Video Solution

443. If the centroid of a triangle formed by the points (0,0),

<cos 0, s/hn) and <s/hn, — cos 0) lies on the line y = 2z then write

the value of tan@.

o Watch Video Solution

444. Write the value of 8 € <0, %) for which area of the triangle formed
by points 0O(0,0), A(acosf, bsinf)and B(acosf, — bsinf) s

maximum.

o Watch Video Solution



https://dl.doubtnut.com/l/_YYOIgoBmTMFD
https://dl.doubtnut.com/l/_UVnazO6emzRI
https://dl.doubtnut.com/l/_Oj57LWUwBWgg

445, The distance between the lines 4 + 3y = 11 and 8z 4+ 6y = 15is

° Watch Video Solution

446. Write the coordinates of the orthocentre of the triangle formed by

thelineszy = 0andz +y = 1.

° Watch Video Solution

447. If the lines c+ay+a =0, bx +y+b=0andcx +cy+1=20

are concurrent, then write the value of 2abc — ab — bc — ca-

° Watch Video Solution

448. Write the area of the triangle formed by the coordinate axes and the

line (secl — tanB)x + (secl + tanf)y = 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_JCTRaMyjx9hf
https://dl.doubtnut.com/l/_OgSDkpoAxiS7
https://dl.doubtnut.com/l/_GhDxd3y3LubP
https://dl.doubtnut.com/l/_bXlt3NRX1DLj

449, Write the coordinates of the image of the point (3, 8) in the lines

x+3y—7=0.

° Watch Video Solution

450. Write the integral values of m for which the x-coordinates of the
point of intersectioin of eh lines y =ma + land3x +4y =9 is an

integer.

° Watch Video Solution

451. The equation (b—c)Jz+(c—a)y+(a—b) =0 and

(b3 — c3):13 + (03 — a3)y + a® — b® = 0 will represent the same line if

° Watch Video Solution



https://dl.doubtnut.com/l/_bXlt3NRX1DLj
https://dl.doubtnut.com/l/_q9XQdLBDTBzl
https://dl.doubtnut.com/l/_nvYFI1yIEH8H
https://dl.doubtnut.com/l/_HrhnY5qtIQIY

452.If a, b, c are in G.P. write te area of the triangle formed by the line

ax + by + ¢ = 0 with the coordinates axes.

° Watch Video Solution

453. Write the locus of a point the sum of whose distances from the

coordinates axis is unity.

° Watch Video Solution

454.If a, b, c are in AP, then the line az 4 by + ¢ = 0 passes through a

fixed point. write the coordinates of that point.

° Watch Video Solution

455. Find the locus of the mid points of the portion of the lines

x sinf + ycos @ = p intercepted between the axes.

| e |


https://dl.doubtnut.com/l/_bek10DXh5GCc
https://dl.doubtnut.com/l/_4b15NLnywofO
https://dl.doubtnut.com/l/_tk3ZFqRm0fn7
https://dl.doubtnut.com/l/_qt8zLow9SiFG

I & Watch Video Solution

456. L is a variable line such that the algebraic sum of the distances of the
points (1,1) (2,0) and (0,2) from the line is equal to zero. The line L will
always pass through a. (1,1) b. (2,1) c. (1,2) d. none of

these

° Watch Video Solution

457. The acute angle between the medians drawn from the acute angles

of a right angle isosceles triangle is

° Watch Video Solution

458. The distance between the orthocentre and circumcentre of the

3+4/3 3+\/§>,
is
2 )

triangle with vertices (1, 2), (2, 1) and < 5

a.0b.1/2c.3 + ,/3d.none of these



https://dl.doubtnut.com/l/_qt8zLow9SiFG
https://dl.doubtnut.com/l/_TTLFhkPbKsm2
https://dl.doubtnut.com/l/_858W8c4uMmP3
https://dl.doubtnut.com/l/_5IDmcS6AhHoS
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459. The equation of the straight line which passes through the point
( — 4, 3) such that the portion of the line between the axes is divided
internally be the point in the ratio 5:3 is 9z — 20y + 96 =0

9z + 20y = 24 20z — 9y + 53 = 0 none of these

o Watch Video Solution

460. The point which divides the join of (1,2) and(3,4) externally in the
ratio 1:1 a. lies in the Il quadrant b. lies in the Il quadrant c. lies

in the | quadrant d. cannot be found

o Watch Video Solution

461. A line passes through the point (2, 2) and is perpendicular to the

line 3z + y = 3, then its y-intercept is

o Watch Video Solution



https://dl.doubtnut.com/l/_5IDmcS6AhHoS
https://dl.doubtnut.com/l/_DygPl7Czyt3k
https://dl.doubtnut.com/l/_jEqKgq4Xq7ND
https://dl.doubtnut.com/l/_bs11d7E3dVPU

462. | the lines ax+12y+1=0,bx+13y+1=0 and
cx + 14y + 1 = 0 are concurrent, then a, b, c are in a. HP. b. G.P. c. AP. d.

none of these

o Watch Video Solution

463. The number of real values of A for which the lines
xr—2y+3=0, \e +3y+ 1 =0and4xr — Ay + 2 = 0 are concurrent

isa.0b.1c. 2d.Infinite

o Watch Video Solution

464. The equations of the sides AB, BC and CA oftriangleA B C
arey—x =2, x+2y=1and3z +y+5=0 respectively. The
equation of the altitude throughBisz —3y+1=0b.z —3y+4=0

.3z —y+ 2 = 0d.none of these

| o Watch Video Solution


https://dl.doubtnut.com/l/_bs11d7E3dVPU
https://dl.doubtnut.com/l/_yp3XotUiTKdr
https://dl.doubtnut.com/l/_JykaMi9wv2Gj
https://dl.doubtnut.com/l/_4aRwOWAYHQk5

465. If pyand ps are the lengths of te perpendiculars from the origin upon
the lines x sec + hycosecd = a and x cos @ — ysinf = a cos 20
respectively, then 4p12 + p22 = a? b. p12 — 4p22 = a® c. p12 + p22 = o’

d. none of these

o Watch Video Solution

466. Area of the triangle formed by the points
((a+3)(a+4), a+3), (a+2)(a+3),(a+2)and (a+1), (a+2),

is 25a2 b. 52 c. 24a’® d. none of these

o Watch Video Solution

467.I1f a + b+ c = 0, then the family of lines 3ax + by + 2c = 0 pass

2 2 2
through fixed point a. (2, E)b' (5’ 2) c. < — 2, §)d‘ none of these

° Watch Video Solution



https://dl.doubtnut.com/l/_4aRwOWAYHQk5
https://dl.doubtnut.com/l/_qi3DSBAwvSS1
https://dl.doubtnut.com/l/_eMnGxkSa6dk4
https://dl.doubtnut.com/l/_yY84I0zg0NUf

468. The line segment joining the points (-3,-4), and (1,-2) is divided by y-

axis in the ratio a. 1:3 b. 2:3 c. 3:1 d.3:2

° Watch Video Solution

469. The area of a triangle with vertices at (-4,-1), (1,2) and (4,33) is a.

17 b.16 c.15 d. none of these

° Watch Video Solution

470. The line segment joining the points (1,2) and (-2,1) is divided by the

line 3= + 4y = 7 in the ratio a.3:4 b. 4:3 c. 9:4 d. 4:9

° Watch Video Solution



https://dl.doubtnut.com/l/_yY84I0zg0NUf
https://dl.doubtnut.com/l/_oBCZqbleYF49
https://dl.doubtnut.com/l/_KYKQvZwyqrzu
https://dl.doubtnut.com/l/_Jy4gaeDeb1OD

471.1f the point (5,2) bisects the intercept of a line between the axes, then

its equation is 5z +2y =20 b. 2z +5y =20 c. 5z —2y =20 d.

2z — 5y = 20

° Watch Video Solution

472. A (6,3), B( — 3,5), C(4, — 2) and D(z, 3z) are four points. If
DeltaDBC': DeltaABC = 1:2, then z is equal to a. 11/8 b. 8/11 c. 3 d.

none of these

° Watch Video Solution

473. If p be the length of theperpendicular from the origin on the line

1 1
z/at+y/b =1, then p’=da’+¥ b P==+—= ¢
a2 b2
= = L d fth
E—E—Fﬁ .none of these

° Watch Video Solution



https://dl.doubtnut.com/l/_azDaqTAPOmjy
https://dl.doubtnut.com/l/_wPMumsq2tvJm
https://dl.doubtnut.com/l/_alk5wl1gI3LY
https://dl.doubtnut.com/l/_WLNhCvZ8Kkk2

474. The equation of the line passing through (1,5) and perpendicular to
the line 3z —5y+7=0is 52 4+3y—20=0b. 3z —5y+7=0 c

3z —5y+6=0d5z+3y+7=0

° Watch Video Solution

475. The figure formed by the lines az &= y &= ¢ = 0 is a. a rectangle b. a

square c. a rhombus d. none of these

° Watch Video Solution

476. Two vertices of triangle are (-2,-1) and (3,2) and third vertex lies on
the line z + y = 5. If the area of the triangle is 4 square units, then the

third vertex is a. (-0,50 or (4,1) b. (5,0) of (1,4) c. (5,0) or (4,1) d. (0,5) or (1,4)

° Watch Video Solution



https://dl.doubtnut.com/l/_WLNhCvZ8Kkk2
https://dl.doubtnut.com/l/_i38V0QBQigdv
https://dl.doubtnut.com/l/_PWl2qgCOXCL7

477. (i) Find the gradient of a straight line which is passes through the

point (-3. 6) and the mid point of (4,-5) and (-2, 9)

° Watch Video Solution

478. The angle between the lines
5z + 3y — 7 = 0and 15z + 9y + 14 = Ois “0d. 30"0’

° Watch Video Solution
479. Distance between the lines

35 1
5t +3y—7=0and 15z + 9y + 14 =0 is

35

35/2/34

b. C. — d
V34 334 334

o Watch Video Solution



https://dl.doubtnut.com/l/_tgSb8cQxlry2
https://dl.doubtnut.com/l/_B5OD3feVqcFW
https://dl.doubtnut.com/l/_Xa5IL1lNC5LB

480. The value of A for which the lines
3r + 4y = 5,5z + 4y = 4 and Az + 4y = 6 meet at a pointis2b.3c. 1

d. 4

° Watch Video Solution

481. Three vertices of a parallelogram, taken in order, are (-1, -6), (2,-5) and

(7,2). Write the coordinates of its fourth vertex.

° Watch Video Solution

482. The centroid of triangle is (2,7) and two of its vertices are (4,8) and

(-2,6). The third vertexis (0,0) b. (4, 7) c¢.(7,4) d. (7, 7)

° Watch Video Solution



https://dl.doubtnut.com/l/_eYQzyeBjFsDA
https://dl.doubtnut.com/l/_GU5p6BhgUYeE
https://dl.doubtnut.com/l/_YAyyWSbzKeuE

483. The medians ADand BE of a triangle with vertices

b
A(0,b), B(0,0) and C(a, 0) are perpendicular to each other, if a = 5
a

b.b = 5

cab=1d.a= +,/2b

° Watch Video Solution

484.The equation of the line with gradient — % which is concurrent with

thelinesdz +3y —7=0and8 +5y—1 =20

° Watch Video Solution

485. A point equidistant from the line
dr +3y+2=0, 5z — 12y + 26 = 0and 7z + 24y — 50 = 0 is

(1, — 1) b.(1,1) c.(0,0) d. (0, 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_pNkqhXwlKh08
https://dl.doubtnut.com/l/_JUVOAnGPtet8
https://dl.doubtnut.com/l/_BLxv0EqdEHYL

486. Find the ratio in which the line 3z + 4y + 2 = 0 divides the distance

between the lines 3z + 4y + 5 = Oand3x = 4y — 5 = 0.

° Watch Video Solution

487.The coordinates of the foot of the perpendicular from the point (2,3)

onthelinex +y— 11 =0are( —6,5)b.(5,6) c.( —5,6) d.(6,5)

° Watch Video Solution

488. Find the image of the point (4, — 13) in the line 5z + y + 6 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_PgZxgYP2IfA4
https://dl.doubtnut.com/l/_0PFdnk90KlZI
https://dl.doubtnut.com/l/_AlzFczE61YOR

1. Show that the diagonals of the parallelogram whose sides are
Il +my+n=0lz+my+n =0,mz+Ily+n=0 and

mz + ly +n’' = 0include an angle 7 /2.

° View Text Solution

2. Show that the area of the parallelogram formed by the lines

2z — 3y +a =0, 3r — 2y —a =0, 2z —3y+3a =0 and

2
3z — 2y —2a =0i s—— square units dot’

° View Text Solution

3. If the lines * + ¢ = 0 and 3z 4+ 2y + 5 = 0 are consonants then the

value of gwillbe1b.2¢c.3d.5

° View Text Solution



https://dl.doubtnut.com/l/_BHP3l0Ny1Sqj
https://dl.doubtnut.com/l/_84pKz4PPsBNY
https://dl.doubtnut.com/l/_Sp04yMlWfi4r

